


/

SRR IR index

BAZKFE
ATV RV
WATERPROOF

FLAT SWING
HANDLES

L BN RIY
L TYPE
HANDLES

Em/ N RV

FLAT

HANDLES

AB-460 ~ 463 :

|

AB-151~154

AB-102~103

SAB-461 ~ 463 AB-151-1S~154-1S P.5 || SAB-152~153 P.7 || SAB-102~103(SUS) P.8
— I I
[ ¢ s
AB-401~403 |
AB-251~254 AB-2401~2403
AB-253-15~254-1S ABP-252-1 AB-262-1 P.12 || SAB-401~403(SUS) P.13
[ AB-451~453 =
SAB-401R~403R P.15 | | ABS-451~453 P.16 || AB-301~303 P.17 || AB-351~353 P.19
] IJ
AB-401A-1W ~ -
AB-331~333 P.21 || AB-401A~403A P.23 | | 402A-1W P.24 || AB-152~153-1W P.25

T

'lE

AB-252-1 AB-453F-1 AB-431R-1S~433R-1S P.27
i q .
AB-901R~ 903R ABP-901 ~ 903 AB-901 ~903 AB(S:V-G-M)-901 ~
SAB-901R~903R P.3 (V-G-M) SAB-901 ~903 P.29 | 903 P.31
AB-701 ~703 AB (V-G-M) -701 ~
SAB-701~703(SUS) P.33 || 703 P.35 |  AB-901-1W P.37 | | SAB-1001-2 (L,R) P.37
I
I
AB-802 ~ 804 P.38
:. q? ;-.-h'l
|
|
(¢ )
AB-51~53
AB-51R~53R P.39 | AB-21~23 P.40




HE - NE
OvINURb
LOCK
HANDLES

a4 >avy
COIN LOCKS

OC

Qc

(C

AB-75-1

AB-81~ P.41 SAB-81~ P.42 | | SAB-75-1 (SUS) P.43 | | AB-75-3 P.43
AB-76-3 P.44 | No.075 P.44 | AB-91-1~2 P.45 | AB-60-1~3 P.45
ACP-100-AN
AC-88 P.46 | | (L R) P.46
. Gt
o =y 1 4
& - R
v - () f .\,
<) o
AC-110 P.53 | | AC-141 P.53 | | AC-140-1~2 P.54 || AC-175-SS-1 P.5
F o T
R L©
AC-142 P.55 | | AC-150 P.55 | AC-155 P.56 | AC-160
e, (_ o,
AC-175-ML P.57 | | C-BO1 ~05 P.57 | AC-193 P.58 | AC-180-1~3 P.58

P.59

P.60

=

AC-187 P.60




HEDPOMVECTC—EBAETEHEHLTVWE I,
FRYEFDONVIIVERLE TR,

NV RILDESEIIFHEED— D THDBIIHEE (A NANE) TITLET,
HHE CHRICEL RO ARNERE D ZE PRV U—NIIL - 9 AL - Iy IL - el TR EDERIN T ZITVE T,
ZDH. DOETZNUREICHI I CERBZEITVE T,

B

© st @ s O ~U=>onT O T




"_-——-tf-\

O »HHo=NT O &EBRFUANT @ HExINT O & BEF



Planning

Q =i

FEICEL T —2{ER
BRICISUeREEERLEREICBL e 7 —2&ER W e LET . £/, FrEm (s
YT EERR T B EICE T AR CHERDIRALI Z AL —T A — (AT DZEDT
T HROERDP—BERTY.

e (BAEY > 7I)V) CNCIII#TmI »

&
Manufacturing
Q =i
-l(
3 EME-SRE-EOANEERR
BANANENSEFER EO—FET. Ba CADLIE2E%E
SRICEETCEAL TEDEIEDINITETY EFREND
Y 2RISHEBPHITEONET,
/o FEINER . KEAE. SHEBEOSVERIEY KD R
NREDX)YINDBHY)ET,
O =T O =it
HR7ULABOERTE UV REZER SEEWINTISERE-ERBETIT
NURILDEE (A1 HAN) % £BD/S—F+ NChHEsE R—IL 8- ZEBHBE RN TRDIT-RY
VOB EHAAO . GEFICKIRENUDE T EBYEOM T ADRLLTO>TVET T ~T
CEd . FRATL AALEMELE L OBE FREZEDDADEMIN T ZREY Z&ickoT.
BAREEDPDT AN TICE > TARELE D A —ELERBERETEET,
UBREET,
\
Logistics ~
O r=ERd
HELE-MmEEE
FRERERE ATEE ST FRAL . 2ANLRE BB R~
HELTOET,




Hoshimoto HANDLE CATALOG Vol.3

S
SEREDEH Ne Y
SREEOEE THEMLEHIKICEME
BANDEITHIE T 5T EICSO T IR ERYTREDEIREIAN T A= A% m =
O BEED—_—RIBISATAHIEDTZET.
/
N
O o=t
FEREHDOEZICKVAY
KENCHOEZMET LK FEPEDP DEIKWREDRZF/DHIENTEET,
NNIWCIRIALDOEETF AN OLDOEPEITEONTOET,
Or7aLD-E | MR MHEE MEEEDS R HEPHRORFEDRNDOETT, HESA
:
| @4 F51 bynL®HE | 8ERLIYTVBODOET. PEHRIBYET . PRI SO %
O ==3a7L2T @ T
BELERHE SV B RE BBV REDE/N— VBB
T AICE RS WER VAT THIFPRB T EFEOMIEITVE T FLIEXOSTT F LN—ERFE AR E TRAERVET,
TLAT2HEEFMIAE—NER BEDP—FEICRIENEEIAND TSN D EL
DAY BHYIET
/

FARDONBRET. BERIEF —H—OEVET .
RNRBEBELEM C. $EROIRLICHICALET .
FITHTIRKRLIZE N,

ZEADPAMBECTC—BELET A>T EHBZ—AITHIELET .




BEoKEm AL T\ RV

WATERPROOF FLAT SWING HANDLES

Q10|
L AN AN 4
stock | ronis L BA7K | cap

AB-460~463-SAB-461~463

AB-461-1

AB-462-1

W OB eABREEND)T N\vFUE PKLEHRELOTVET,
Feature o LM (AANKEI. O ERBESZR
RUTLEZLY,)

® Waterproof (using O-ring and sheet
packing)

® For both left-hand and right-hand use.
(the left-hand or right-hand use can
be changed by reversing the cam and
stopper plate)

# ¥ eAB-460~463 &% (ZDC)
®SAB-461~463 /AT LA (SUS)
FMELE @ AB-460~463 Y F I hyOLHo&E
® SAB-461~463 /7 —51 VINTHE
A & oEER HER HIiE ZDMEEBOX
i % eF¥—%S 'H200

Material @ AB-460~463/Zinc alloy(ZDC)
@ SAB-461~463/Cast stainless steel
(SUS304)
Finish @ AB460~463/Satellite chrome plating
® SAB-461~463/Hair line finish
Specific Use @ Electric distribution and control panels, etc
Remarks @ Key No/H200

HRARMODIEHERFT AR INE RABHIED S [FRAHBHIEH
DEHREHERBLET .

wm & 8 £ B =H( | A %| B
Product No. Remarks Weight Lot Price
AB-460-1 BFE 374 40 ¥1,600
AB-460-2 BEL 40 ¥1,400
AB-461-1 BFE 494 40 ¥1,700
AB-461-2 BEL 40 ¥1,500
AB-462-1 BFE 297 56 ¥1,300
AB-462-2 BEL 56 ¥1,100
AB-463-1 BIGE 222 80 ¥1,150
AB-463-2 BEL 80 ¥1,000

SAB-461-1 S 10 ¥7,500
SAB-462-1 RIFE 10 ¥6,500
SAB-463-1 BIFE 10 ¥6,000

*—&%% 'H200
Key No.



AB-460-1 —hwith key
AB'460'2 (¥—#%) Without key

35 ks v 1.5 23125
Waterproof packing > | M6Xx12
e N © .y J
.'N i
§ : , i
S~ /7
%A E90° e N
1 Tum 90° e ;\ HEEE  ©
o3 : (t2.3) -
7 - Adjustment
// washer
7@ 45 % /C-44-1 1
1 ™ (t3.2)
U M
‘ Stopper plate
(93) 1;\\ Ppere
AR H-200%&*—
Installation plate Key No.

AB-461-1-SAB-461-1 - with key
AB-461-2x—m without key

36

,6?}
1/

12
Bh7K/SyFx> 1.5
Waterproof packing
Te)
Yl
H#/ 2 90° e
Turn 90° /’/,,/ gr)
/'/A\%
/f\ \V,> 1
(92)

— -E/M6X12

o]

12.5

N mmme  ©
1 (t2.3) -
Adjustment

L washer

1E&%/C-44-1
(t8.2) ’
Stopper plate

BTtk

Installation plate

AB-462-1-SAB-462-1 +—) with key
AB-462-2 (+—m) without key

30

9.9

Bk Syx> /1.5
Waterproof packing

12.5

H-200%&x—
Key No.

M5X10

WEES

i (t2.3) ®
i Adjustment
i'\washer

1 4&/C-44-2 |

(t2.3)
Stopper plate

ATtk

Installation plate

AB-463-1:-SAB-463-1 (- with key
AB-463-2 (x—m) without key

30

B AE90°

£ Turn 90°

9.9
Bk /Sy> 1.5~ M5X10
Waterproof packing

27

H-200&x—
Key No.

65

400

QJ
el

2-¢4.

11.5

Al
meEe  ©
(t2.3)

i Adjustment ¢
\ washer
b %/C-44-2

(t2.3)
Stopper plate

AR
Installation plate

23

H-200%F+x—
Key No.

WRfIRTE

Dimension of mounting hole

L/S— " Revolving central
[EIEREVY 3 position of handle
n

[

—

117

27

“ERERE. t1.0~2.8mm
Panel thickness applicable to install

WA &

Dimension of mounting hole

L/x— Revolving central

[ﬁ]ﬁgq:,[,\\position of handle
0

<

=

117

27

="

SERREREI, 10~2.5mm
Panel thickness applicable to install

WA AT &
Dimension of mounting hole

LN—
EIL S

Revolving central
position of handle

J o

=

96

| 24]
“EREREN. 10~2.5mm
Panel thickness applicable to install
WA AT &

Dimension of mounting hole

LiN—
EILAC T

Revolving central
position of handle

fov

=

(90}
©

24

SEREREI, 10~2.5mm
Panel thickness applicable to install



LEIRHIK/ V> RIL S2ECEEE)

L TYPE WATERPROOF HANDLES

AB-901R~903R:SAB-901R~903R

H @ eRE1T-LHIROAMDON—-AEZ YN EL,

Feature @ Z/DDFHKIEHE (F—)2 T Bk N\ F %) .
o ARG

® Using the circular-type base parts of
popular shape.

® Waterproof (using O-ring and sheet
packing)

® For both left-hand and right-hand use.

# ¥ eAB-901R~903R HE# &% (ZDC)
® SAB-901R~903R A7 LA (SUS)
FmiLiZ e AB-901R~903R /OL¥H>E
© SAB-901R~903R /#RHE/\7#EE
A & eEBAFai—EV I -EER HER -HHE ZOME
EBOX
i % ex¥—%S 'H200
® AB-901R~903R,“H500& &1 7D+ —U>
H—HWM)EBATHEVET . (BEVICHIID)

Material @ AB-901R~903R/Zinc alloy(ZDC)
® SAB-901R~903R/Cast stainless steel
(SUS304)
Finish @ AB901R~903R/Chrome plating
® SAB-901R~903R/Mirror surface buffing
Specific Use @ Outdoor cubicles,electric distribution
and control panels, etc
Remarks @ Key No / H200
® AB-901R~903R/Have cylinder of
no.500 key type (have different key
type, too)

AR ILHERFTARINE ARABG DS [#EHBHIEH]
DEREHRHBLEY

@/\> N - BEBFDMERER

AB-901R-1 (Strength test for the handle, lock, etc.)
% R FEHE = (ksf)
Name load bearing direction | load bearing strength
®515RY 100
pull out
N\ZRIV ®F B 100
Handle Press in
CF B
Vertical from head to foot 100
# 0 O Y
lock Turn out 50
1 BETER
Installation position of ©515R0) 50
Pull out
stopper plate

m & fE £ B H( | A %| B
Product No. Remarks Weight Lot Price
AB-901R-1 FEbES 450 40 ¥1,600
AB-901R-2 BEL 450 40 ¥1,300
AB-902R-1 FEbES 240 60 ¥1,500
AB-902R-2 BEL 245 60 ¥900
AB-903R-1 FEbES 200 60 ¥1,400
AB-903R-2 BEL 205 60 ¥800
SAB-901R-1 FEbES 540 10 ¥7,500
SAB-902R-1 BFE 280 10 ¥6,500
SAB-903R-1 FEbES 230 10 ¥6,000

AB-903R-1

*—%5,H200
Key No.



AB-901R-1-SAB-901R-1 —hwith key

(¢58)
AB-901R-2 ) without key ) (B S )
BEES(120)  Waterproof packing
¢60 51 2258 Adjustment washer 35
6.1.5 5‘ BEES (130) (40)
- Adjustment washer A
( s M6x14 /@\
.y N b KA Fuk(M22) <
y O NN - 1\ Nt [ Sy
- /@/i - - ﬁj;\\‘ SN T 36 WS ( H Dimension of mounting hole
T LA E60° LAEE0° . 3
AT P ) i Ve ks o> (1.5) 2-¢85
Turn60° Tun60° 20 Waterproof packing L J 0¥
(open to left) (open to right) $23
cl e -(1F
1 -0~
31 MEXFTEE  -RAEARREL 8.5mm
(103.8) I H200& % — %SAB-901R SAB-901R Max appli(_:able panel
Key No. Fuk(M22) thickness is t8.5mm
AB-902R-1:-SAB-902R-1 - with key
AB'902R'2 (F—#&) Without key
(¢46)
REEZS(11.0) (BAZK/ %)
¢48 42 143 5 Adjustment washer Waterproof packing
235 52 1.5 BERES (12.0) 30
/__ | Adjustment washer <3‘2>
g = + M6x14 //a\\
- :: R /\ - — - 1@‘ <>Cb )
TN - : WA
P i I G NN ° E Fvbk(M22) — Dimension of mounting hole
N YN Y 1 Nut
o S 8.5 TS
[Es 5 E60° [&s A E60° J
(ZFA%) (BR%) 20
Tum60° Tum60° Fizk/Sy%> (11.5)
(open to left) (open to right) Waterproof packing :
o\ i _
‘ (12.4) o) R AEAEREIL t5.5mm
124 25 XENFETEIE Max applicable panel
(84) ] H200%&*— SAB-902R thickness is t5.5mm
" Key No.
AB-903R-1:SAB-903R-1 - with key
AB-903R'2 (F—%&) Without key
. (943)
REES(1.0) (BA7K/ Sy )
045 38.8 14.\’; 5 Adjustment washer - Waterproof packing
22 5.8 BRES (120) 20
| Adjustment washer 32
(K TN\} <+ [b M6x14 é&
IR (o) «
% i A ! T mmttuntE
R | SN S R Fvh(M22) Dimension of mounting hole
TN o \\\\;} - 1 Nut i
P A 1 W 1
B4 60 43 £60° 26.5 HfYEES | Y
(£R) (HR) 20
Turn60° Turn60° Bfizk/¥y%> (11.5)
(open to left) (open to right) Waterproof packing
B 23 E LTI P—
SAB-903R RAEARERE. t5.5mm
(11.9) H200%&+— :
68.6) ‘ Key No. Max applicable panel

thickness is t5.5mm



Q10|
L AN AN 4
stock | ronis L BA7K | cap

BEoKEm AL T\ RV

WATERPROOF FLAT SWING HANDLES

AB-151~154-AB-151-1S~1

@PAT.PEND.

B OW eHELRATvI BT LN—E5IZEIFET,

Feature @ R(FRENYT-/\yFE, BKARELO>TVET,

o EAFRAREH (EANKEIL. LD EERBESE
BRLTTEL)

® The mechanism is incorporated that the
handle is forced out by pressing the
button.

® Waterproof. (using O-ring and sheet
packing)

® For both left-hand and right-hand use.
(the left-hand or right-hand use can
be changed by reversing the cam and
stopper plate)

# B eEMNEE(ZDC)
FEANE oY FSAN/OLDOZ-IOLHOEN2IE
A & eFi—EJIN-RER FBR -HHR FOMEE
BOX
i % ex—&S 'H200(AB-151~154)
® +—#&% 'SC2000(AB-151-1S~154-1S)

Material @ Zinc alloy (ZDC)
Finish eSatellite chrome plating/Chrome plating
Specific Use @ Cubicle systems, electric distribution
and control panels, etc
Remarks @ Key No/H200(AB-151~154)
e Key No/SC2000 (AB-151-1S~154-1S)

XAB-153/154RIC(3. LH£C-45-2000 74217 (R

AB-152-1-1S 62=100) BEVET,
Z4=VNE ZARDBZEE. HEETE0,
X 1IESHEC-45-200Y MERUTRD04.20MEHVET . ZA
AOBEIFAEEBRUIF<EZL,
¥ Long type of stopper plate(Product No.C-45-2)is
also available for AB/153/154.(Prodct No.C-45-
2L)
If necessary, please specify the product No.
¥The ¢4.2 rod mounting hole on the stopper
AB-152-2-1 plate(C-45-2) is also available.
BFESAL hIOLD>Z Please specify accordingly if you need the
stopper plate C-45-2.
XAHBZOILEDEBFFTARIIE . BHBHIED S [HEAHBHLEF] ]
DRHEWRHLET
4 ; N o= B E@E® | A %] ¥ @
~ Product No. emarks Weight Lot Price
= *—%% /SC2000
* —f;/'\:;zoo key No. AB-151-1-1 HOLDHE/BAE 666 40 | ¥3,000
' AB-151-1-2 HOLDOE/REL 680 40 ¥2,900
AB-152-1-1 JOLSO>E/EfFE 520 40 ¥1,800
AB-152-1-2 IOLDOE/FEEL 540 40 ¥1,700
AB-153-1-1 IOLDOE/EFE 390 40 ¥1,700
AB-153-1-2 IOLOOE/FEEL 425 40 ¥1,600
AB-154-1-1 IOLDOE/EFE 280 40 ¥1,500
AB-154-1-2 IOLDOE/FEEL 255 40 ¥1,400
AB-151-2-1 YF AN OLDOE/RIGE 666 40 ¥3,000
AB-151-2-2 YFIANOLDOE/FEEL 680 40 ¥2,900
AB-152-2-1 YF AN OLDOE/RIGE 520 40 ¥1,800
AB-152-2-2 YFIANOLDHOE/FEEL 540 40 ¥1,700
AB-153-2-1 YFSAMTOLDOE/FGE 390 40 ¥1,700
AB-153-2-2 YFIANOLDOE/FEEL 425 40 ¥1,600
AB-154-2-1 YF AN OLDOE/RIGE 280 40 ¥1,500
AB-154-2-2 YFIANOLDOE/FEEL 255 40 ¥1,400
AB-151-1-1S J0OLBH>E/#FE (SC2000) 670 40 ¥3,200
AB-151-2-1S | Y F51~ /OLSH>E/EfFE (SC2000) 670 40 ¥3,200
AB-152-1-1S J0OLB>E/#FE (SC2000) 520 40 ¥2,000
AB-152-2-1S | ¥ F51~ /OLH>E/EfFE (SC2000) 520 40 ¥2,000
AB-153-1-1S J0OLB>E/#FE (SC2000) 390 40 ¥1,900
AB-153-1-1(Cr) AB-1532.1S | 755
HOL®Ho>% - -2~ FTANOLD>X/FFE (SC2000) 390 40 ¥1,900
AB-154-1-1S 70L&/ (SC2000) 280 40 ¥1,700
AB-154-2-1S | #7351 yOLSH>E/EfFZ (SC2000) 280 40 ¥1,700




I AB-151-1-AB-151-1S &) with key
AB'1 51 '2 (¥—#%) Without key
55 342 (27.3) 100 (C-43R) ‘
44 BAzK/Xy%> /1.0 \ 31 _[t3.2 040
9 Waterproof packing | -MBX12 -
Fanv il 5 ]
|l mezs 000 AW
L_H{Tum 90° Nl | .
‘ A : am plate 3
} a5 tH2(132)
; Stopper plate
H® AR
‘% Installation plate ‘
S H200%%—
Key No.
I AB-152-1-AB-152-1S -t with key
AB-152-2 (F—#) Without key 60 307 (27.3) 100(C-43R)
38 Bpok/ ¥y /t1.5— | [27.5]13.2 4F 2.64.2
l Waterproof packing \ n M6X12 < ?Q
an e (7~ = —
3 ) / If o
| #5/4E90° s iy @ O
i Tum 00 S I\ LR (3) <
‘ /\‘@ “ Cam plate g
! RN ()48'0_ o 1% (t3.2) — \2—M5X1 2 20
| N [\ Stopper plate | |
i A U OB R o
Installation plate =1 It}
i f
(80) 205 29 H200E % —
Key No.

AB-153-1-AB-153-1S -thwith key

100(C-45-2L)

22) 62(C-45-2)

; -¢3.2

W& ’*’7i37

AB-153-2 (+—m without key
5.8 27.8
34 BhK/ N> 115 255]12.3
Waterproof packing M5X10
| N
4 I\
s faniE
\~‘L, | |
|l | mE=s o0 T\ AL (2.3)
L—/ Turn 90° ‘L\Cam plate
F,ﬂ\ . 1E»H£ (12.3)
L] \T/ L ! Stopper plate
) B8
"/ Installation plate
IAB 154-1:AB-154-1S = with key
AB 154 2(=\'— —#%) Without key
5 283
32 BhzK/SyF> /t1.0 ‘ 26 | t2.3
Waterproof packing M5x10
) — I
& o
E#£/£90° { NN
- Turn 90 o \/5 I cam plate
4o | \_ k£ (t2.3)
Stopper plate
AR
(39) | 21 Installation plate

H200%Fx—
Key No.

100(C-45-2L)

(22)

62 (C-45-2)

300

WA &
Dimension of mounting hole
L/N\—  Revolving central
[E&7F:0  position of handle

161

SBRFEREIL t1.5~3.2mm
Panel thickness applicable to install

BB RTE
Dimension of mounting hole
L/N—  Revolving central
IE§£¢IL>\ position of handle

I Jv

141

|
|
|
|
|
|
|
|

30

“EREREN. t1.5~3.2mm
Panel thickness applicable to install

WA FRTE
Dimension of mounting hole

L\—  Revolving central
Eiﬁ*fb\posmon of handle

IS

103

SEREWRENE. t1.5~3.2mm
Panel thickness applicable to install

W&

Dimension of mounting hole

L=
(LG

Revolving central
position of handle

I_D
1

85

SEREREIL. t1.5~4.0mm
Panel thickness applicable to install



AT VUV ABGIKERARA TN RIV

STAINLESS STEEL WATERPROOF FLAT SWING HANDLES

SAB-152~153 (SUS)

e
CAD

A7k

" &

Feature

O AT VL AR THAMICERTVET.

ORERLARAY Ty 1RET. LN—%5IZE L%
5.

o EEFMRAH (EEDKBISILD S EFARERER
RLTLZZEW)

® Stainless steel handle of excellent
corrosion resistance.

® The lever can be flipped up by pressing
the push-button.

® For both left and right use (the left and
right can be changed by reversing the
stopper plate and adjustment washer.)

# H e X7V A(SUS304)
FREANLIE @NT—FA 2 INTHE
B & eFxai—EVI-RER FER FHE ZOMhERE
BOX
i % e*x—%S 'H200
Material @ Stainless steel (SUS304)
Finish eHairline finish
Specific Use ® Cubicles, distribution boards, control
boards, various boxes
Remarks @ Key No/H200
MARBOIEHERFTARI I BABFIED A [#RAFHLEH] ]
— DEHEWRHLEY
SAB-152-1
i m B fa & B H@E| A # -]
+—%&2 /H200 Product No. Remarks Weight Lot Price
Key No. SAB-152-1 FENEY 651 10 ¥8,500
SAB-153-1 SAB-153-1 RitE 444 10 ¥7,500
I SAB-152-1 +—twith key Rt
Dimension of mounting hole
6.5 30 27.3) 100 (SC-43R) L/\— Revolving central
38 RhiZk/Sy%> /12.0 t3 400 lﬁlﬁxnhlu\ position of handle
1L M6 x 12 I N 45
1 7 @ S _ 9 ‘ .
B [P Y ] € ‘
L- @iﬁﬁg /(//,, “\ @ ; {
\ @ \ﬁM& ) o \ T
| kg3 }
&1 |
: % i N mfsi |
|
| | 30
L 29 EEREL. 1 5~3.2mm
Panel thickness applicable to install
I SAB-153-1 —mwith key AR
Dimension of mounting hole
L\— Revolving central
6.3__27 22) 62 (SC-45-2) #5510 position of handle
34 B/ Y% 12.0 25 t2|v|5 o oL . 5432 \ ‘ o
Waterproof packing X Z( I )
| . IRWEE;
~~ & — |
_ = Q'L 2 S |
! )~ ; ~— L _ ~< :
pail i 8 |
| ||| m&mRo0° - HLIRE2) o & % - |
i [Tum 90° AN Cam plate 2 \
@ > & (t2) ET; !
= - St lat o |
opper piate =\ msxiz B *
) B | 27
—— Installation ——
plate 26 “BAFEREIL1.5~3.2mm

Panel thickness applicable to install



BEIKEBARA TN RV (FKar Ty ak)

WATERPROOF FLAT SWING HANDLES(push button type)

SAB-100/(#) BAR BRI X5 IFRARSHES

AB-102~103-SAB-102~103 (SUS)

@PAT.PEND. (AA-8E- A -FE)

J0LsHo%E

AB-102-1-1

2 (%—#&) Without key
9 294
.

B/ vy%> /1.0 207

-1 SAB 102(4’- ) With key

1o Waterproof packing
N e
2
i A
@iﬁﬁ}*{gO“ /' //
Tum 90° v ‘\

(95)

2 (F—#) Without key

-1 SAB 103(4’- ) With key

SAB-103

.
e’

BhoK

EEBZESE R (MAVERET)

)

oW T aTyTARORAABRBNIRIE,

Feature

KT TV TREDNREL RSTHBERRIERIRL,
O LR (EENERIL., LS AREREERLET)
O RE R T AV—MN=2v I 7 A,

e Button implanted handle (PAT.P) of push-up type is;
Its pop-up angle is large and the handles's length
is long, so it is easy to hold and control.

o[t can be used in both ways for right and left-
handed people. (For changing from right-handed
or vice versa, just reverse the fastening nut and
the control board.)

o[t is designed as button-built in style and looks very
sophisticated. (PAT.P)

#

¥ eAB-102~103/m:#a&%E (ZDC)

®SAB-102~103/A7 LA (SUS304)

FMEME e AB-102~103/YF5/hy0L®o&- /04

A

HoE
O SAB-102~103/N7 =14V /INTHE

i# oF1—EYI-EER HER-FIHE ZOMEEBOX
i % ex—%S 'H200

O ILHERT2LEATDEDEHVET
0 SC-20000F - )8 —%ty g 2BEEHTT .

Materia

| ® AB-102~103/Zinc alloy(ZDC)
® SAB-102~103/Cast stainless steel (SUS304)

Finish @ AB-102~103/Satellite chrome plating-

*—&% H200 Chrome plating
Key No. ® SAB-102~103/Hair line finish
Specific Use ® Cubicle systems,electric distribution
and control panels,etc
Remarks @ Key no/H200
e Have 72L-type stopper plates
(27.4) 100(C-43) (SC-43) WELfH AT
140(C-43L) Dimension of mounting hole
8.7 40 o.pa2
| : )
M6x12 o :b”?(g ¥
<t S ol I
T —— [ At ZA S = 200
REESE (t2/13) ¥ Q\ ‘ Revolving central
Adjustment o | h position of handle
Kwasher 3 | 20 = | |
194 /C-43 - |
| (132)ss - ° }
" (t3.0)SUS B e} |
Stopper plate 30
HfH34R .29 2008 BAFEL 1.5~32mm
Installation plate 2-M5x12 Key No. Panel thickness applicable to install

8 99.4 (27.4) 100(C-43) (SC-43) W
34 Bkt 10— b7 8.7 140(C-43L) Dimension of mounting hole
Waterproof packing N\ R ‘ ©
19 M6x12 o *JKJE'
LR IR (', " . ——
t - ‘ N ZAR TN
E5 5 EE90° ARES(12/13) 8| 1 | Revolving central
Turn 90° Adjustment © = | ' | position of handle
| washer \
:h‘%w%/043 \
t3.2)SS
(t3.0)SUS | .27 |
Stopper plate _
n h?g wp H200%%—  -#REEEL5~32m
e Key No. Panel thickness applicable to install
Installation plate
w = B EE@| A B | B @ & & % = B E@| A B | B @
Product No. Remarks Weight Lot Price Product No. Remarks Weight Lot Price
AB-102-1-1 JOLSH>E/BFE 569 40 ¥2,000 AB-102-2-2 YF AN OLD>E/BEL 601 40 ¥1,800
AB-102-1-2 JOLH>E/FEEL 601 40 ¥1,800 AB-103-2-1 YFSANOLDOX/EBAE 416 40 ¥1,900
AB-103-1-1 HOLDX/RITE 416 40 ¥1,900 | AB-103-2-2 | #F51h/OLsH>&/§EL 440 40 ¥1,700
AB-103-1-2 JOLH>E/FEEL 440 40 ¥1,700 SAB-102 FENEY 710 10 ¥8,500
AB-102-2-1 YF SN OLDOE/BFE 569 40 ¥2,000 SAB-103 FEbEY 496 10 ¥7,500

HRARMOIEDERHT ARG BABIED % [EHBHIER] | D2 HZHRERLET



BR7KEm AL TN RV

WATERPROOF FLAT SWING HANDLES
53-1S~254-1S

OPAT.PEND.(AA-7 X U H- K4V -8E-&E-FEH -1 > K)

¥ A OEAFAR (EENEER. LHREHAEESRE
Feature ERLTTFELY)

O FSAN/OLDHO>ZTEI/OLD>ED2IBHTER
HAEZLTHVETOT. TEXDEICITZIEE
T&UN,

®AB-253-1S~254-1SIZI1ZSC20000EH
SETENTWET ., 200FF—LUAHOEBDOEIERIC
Fo T EF2UFrDELEERYEL .

eSC2000F—H DI E—ldE> 2> T5—
BET. BORZZELPBROSHTY,

® For both left-hand and right-hand use.
(the left-hand or right-hand use can
be changed by reversing the cam and
stopper plate)

® Please specify satellite chrome plating
or chrome plating when ordering.

®SC2000 key for improved security is
set by the management of non H200
keys. (AB-253-1S~254-1S)

® The cylinder of SC2000 key support is
pin tumbler structure so, insertion and
extraction of the key is smooth.

M H eEHRASE(ZDC)
FRENE oY FSAM/OLDOE-IOLDHOED2HE
A & eFai—EJ/IN RER FEBR-HHE ZOMERE
BOX
fi % ex—%&S 'H200(AB-251~254)
o +—&% 'SC2000 (AB-253-1S~254-18)

Material @ Zinc alloy (ZDC)
Finish eSatellite chrome plating/Chrome plating
Specific Use ® Cubicle systems, electric distribution
and control panels, etc
Remarks @ Key No / H200 (AB-251~254)
e Key No / SC2000 (AB-253-15~254-1S)

MARBOIEH SRR G BABFLEDBIIRABF LR D
BREHRBLEY,

¥Mounting screw for stopper plate of this
product are recommended that are coated with
"anti-loosening "to prevent loosening

*—%&% H200
Key No.

AB-251-1-1
J0bL®->E

*—%% /SC2000

Key No.
AB-254-2-1S
YFSA hoOLhHo&
m & i BE(g) | A¥ ]
Product No. Remarks Weight Lot Price

AB-251-1-1 JOLBHOR/FEFE 816 40 ¥3,000
AB-251-1-2 JOLsH>E/BEL 748 40 ¥2,900
AB-252-1-1 JOLSH>E/FEIFE 668 40 ¥1,900
AB-252-1-2 JOLHOE/BEL 613 40 ¥1,800
AB-253-1-1 JOLDHOE/ETE 404 40 ¥1,800
AB-253-1-2 JOLHOE/HEL 377 40 ¥1,700
AB-254-1-1 JOLDOE/RIGTE 341 40 ¥1,600
AB-254-1-2 JOLBOE/FEEL 332 40 ¥1,500
AB-251-2-1 YFIANOLHOE/RBIFE 816 40 ¥3,000
AB-251-2-2 YFIANyOLH>E/BEL 748 40 ¥2,900
AB-252-2-1 YF AN OLDOE/RIFE 668 40 ¥1,900
AB-252-2-2 YFIANOLD>E/BEL 613 40 ¥1,800
AB-253-2-1 YF AN OLDOE/FFE 404 40 ¥1,800
AB-253-2-2 YF AN OLDOE/BEL 377 40 ¥1,700
AB-254-2-1 YFIANOLHOE/RIFE 341 40 ¥1,600
AB-254-2-2 YFIANyOLH>E/BEL 332 40 ¥1,500
AB253-1-1S IO L&>E/§E+E (SC2000) 404 40 ¥2,000
AB254-1-1S J0LH>E/#FE (SC2000) 341 40 ¥1,800
AB253-2-1S | #F51hyOLhoE/#EFE(SC2000) 404 40 ¥2,000
AB254-2-1S | YF51hyOLsH>E/EZ(SC2000) 341 40 ¥1,800




AB-251-1 —hwith key
AB'251 '2 (¥—#%) Without key

12 31 27.3) 72(C-45-1)
e o o M6 x 12 F@
— T i Waterproof packing ! ==
IV vits il
. ;i . o)
||| mgamoo g Norsiraea) |V
L Tun 90° Py | Cam plate 2
| AR Niwsews2 ~
‘ N = - 3.2)
} N Stopper plate
@ IR Er
KJ\UJ Installation plate —
‘ (115) — i '
: 31 H-200% % —
Key No.
AB-252-1 - with key
AB-252-2 +—m without key
11 5F 28 27.3) 72(C-45-1)
40 BizZk/¥v¥> /1.0 M6x12
Waterproof packing |\ |
Farvit
e Al S8
||| BEsEo0" Bt (12.3) 3
] Tumn 90 Y ” Camplate  Q
N : -
| SN2 Nitw2 (132) 2-M5 x12
| SN Stopper plate
i 95 11 E]
w - Installation plate
‘ (101) 29 H-200%+—
Key No.

¥ikH&C-45- 200 y MERARY 420 H 1) 7,
ZAHDBERFESR LS,

(22) 62(C-45-2)

AB-253-1:-AB-253-1S =) with key

AB'253'2 (¥—#%) Without key
11 26

35

B/ Sy 11.0—L M5x10
Waterproof packing |\
[Te]
& '
o] A1
- . /1L ]
mERE0 ol | B sk o
Turn 90 N S n Camplate ©
&N ‘uﬁ\ﬂ:&)ﬁ(tz@ o \M5X1 2
% Stopper plate HpE
7 iR —=
(77) Installation
plate 26 ‘
H-200%*x—
Key No.
AB-254-1:-AB-254-1S x—with key
AB'254'2 (¥—#%) Without key
105 26 22) 62(C-45-2)
82 Bhk/ Yo% H.0—— M5x10

Waterproof packing |

) \\\\

Elé5 55 E90° ‘ AL (12.3) <
Turn 90° ‘ Cam plate
) N k% (12.3)
8 ~ Stopper plate
(64) 159 Elﬁtﬂli

Installation plate

WE R

Dimension of mounting hole

s
LNy

Revolving central
position of handle

161

SERFERE . t1.5~4.0mm
Panel thickness applicable to install

B R iE

Dimension of mounting hole

f 0

i [He

|| -vi-EgEdh
‘r/ Revolving cental
|

\

i

i

l

0

position of handle

141

3

EAERE L. 11.5~3.2mm
Panel thickness applicable to install

WE R E
Dimension of mounting hole
LAN—EEHiD
Revolving central
position of handle

IR

103

EAFERER. 11.5~3.2mm
Panel thickness applicable to install

WA IR
Dimension of mounting hole
LA-EEHRD
Revolving central
position of handle

T I

85

25

SERERER. t1.5~4.0mm
Panel thickness anolicable to install

10



11

BRERBHKEmAL TN RV (>

PLASTIC WATERPROOF FLAT SWING HANDLES WITH INDICATOR

4

L

1
A

‘9

~ &

v

r—8—f) o

B @ e Ir—apHtuTOEITOT.RBOFHIMELIX
Feature BEHS—BTHhHIVET,
o[ | —~7#HOPEN. [BA] ~#&CLOSEDRREHD
TVLET,
o A ICEBN /NS AR ZERL TULE
ER
O RARD/NYFUIIBHAARBKD T, BEREDS
< BAKERREL>TVET,
o LEFANRE (ABESLLEDHEERRTIEICEK
V). EBEDANEZDETHE)

oL ock/Unlock states of the key can be
checked at a glance by indicator.

ot becomes the display of Red(OPEN)
and Green(CLOSE).

® Adopts the glass fiber reinforced resin
with excellent durability.

o High adhesion and waterproof gasket
because of embedded type.

®For both left and right use (the left or
right use can be changed by reversing
the stopper plate and adjusting washer.)

¥ eRUF7IN(PAB6-GF30)
FENE e R EW

F—%%5 H200 & 0TSy
ABP-252-1 Key No. B i# eHiEE ZOMEEBOX
i £ ex—%S/H200
OHfHHRAXRY (M5XYEV T XD) DHERFHDH D
MLJIE1.ON-mERVYET
Material @ Polyamide(PAG66-GF30)
Finish eWrinkle finish
Color eBlack
Specific Use ® Control boards, various panels
Remarks @ Key no/H200
REERS ®Recommended tightening torque is
Unlocked 1.0N-m for installation plate screws (M5
tapping screw).
M6x12 FES MARGO D SRR BHBEIED A EHBEIER] O
ame BmEHRHLEY.,
2 = ¥Mounting screw for stopper plate of this
product are recommended that are coated with
D AV "anti-loosening "to prevent loosening
™ (RRIEDAH)
ABP-252-1
- / M & e & BE(g) | A | B ffi
N / Product No. Remarks Weight | Lot | Price
. ™ ABP-252-1 st 309.4 | 40 |¥1,500
(5uEBL)
11.5 28 27.3) 72 (C-45-1) _ BHFRTE
40 Bk /Sy /2.2 ] M6 x 12 400 2.457 o
’ \ 7/ : LN—[EgRHD
| M |
™ Vi To)
(NS T[S o 118
HYS | W& —= Bl
e o |
s e 3 PN
> 7 \ i 5
s ; Kg AR Q T |
| ;% 23 - |
| N = @ | |
\ > g 2-M5 x 10 \
a I~ (132) Tl senr 20 i
,,,@,, AR ’?5 |
|
\

(101)

H-200&%— EABEWREE. t1.5~3.2mm



BHIKEE AL TN NIV (1> o5 —s—f3%)

WATERPROOF FLAT SWING HANDLES WITH INDICATOR

AB-262-1

@PAT.PEND.

(D)

eSS
Locked

g
Unlocked

12.5

Bkt 120 L1

Waterproof packing

245

{ e

mEaEe /|
Turn 90° a

v o
QO |:=
stock | ronis | BA7K | cap

" &

Feature

O (T —ANRNTVWET DT RO FIMBAIIK
EBHA—BThHIUET.

® [ | —F. [BAl ~RORRELOTVET,

® (RIEHH AR DT MADIERDEHHTY .

O KFERED/ N+ F, BiKARELOTVET,

O ELERARGH (EANKEEL. EHEERABERZ
BELTTFZL)

®Lock/Unlock states of the key can be
checked at a glance by indicator

@ |t becomes the display of Red(Unlock)
and Green(Lock).

® The installation work is simple for
temporary mounting is possible.

e |t is waterproof specification for
packing on back side of handle body.
® For both left-hand and right-hand use.
(The left-hand or right-hand use can
be changed by reversing the cam and

stopper plate)

# B’
RENIT
A &
i %

® FirAR (ZDC)

oY F A yOLDOE

o FiEiR- 9 A - HHR- T DEEBOX
o +—%S 'H200

Material
Finish
Specific Use

Remarks

®Zinc alloy (ZDC)

® Satellite chrome plating

@ Distribution-control boards, various
panels

ekey No / H200

HARBOLEHERFFTARIIE. BABHLED /28 [HEBABHLE
| D2HZHRLET .

%Mounting screw for stopper plate of this
product are recommended that are coated with
"anti-loosening" to prevent loosening

AB-262-1
m & fi %8B Z@|A #| ¥
Product No. Remarks | Weight Lot Price
AB-262-1 FbEY 3174 56 ¥1,600
*—%% 'H200
Key No.
125 27 W) HFRTE
. Dimension of mounting hole
M5 x 10 40
L/N—E#ERAD
Revolving central
position of handle
N |
o M@ N ES
: A A !
SREES (11.6) T Al & ‘
Adjustment hd ¢ ‘
washer To) |
[0)] 8 i
B 18 |
o F\"
kg /C-44-2 B -2-M4 x 8 : ‘
AB:
(t23) PAT.P ‘
Stopper plate —— |
- ol & ¥
AR ‘ 24
Installation plate 23
H-200&x— -EAEREE. 11.2~2.3mm
Key No. Panel thickness applicable to install

12



13

BKGERISEm AL 7\ R

WATERPROOF THIN FLAT SWING HANDLE

1'1 L
L AN AN 4
STOCK noHs Bk cAn

SAB-400/(#1) BAEBR T %% FEARBRERTEBEZERELG (MATWERET)

AB-401~403-AB-2401~2403-SAB-401~403 (SUS)

@PAT.PEND. (A7 -8 E - &7Z - FE)

p

AB-401-1

i

SAB-402-1

AB-2403-1

AB-401-1B

AB-402-1B

¥ # eXAKREmOUT NvFUF BKEHELOTLE
Feature ¢,
O EAFAKI (EENEER. LHOELRHEERE
EiRLEY)
® Adopt waterproof structure sheet
packing and reverse side of handle.
® The special design of two-way (left and
right) to rotate concurrently (according
to the direction change, stopper plate
and adjusting washer can be turned).
# % e AB-401~2403/&E#E% (ZDC)
®SAB-401~403/A7 LA (SUS304)
FENLIE 0 AB-401~2403/HF 7/ M/OLD>E-BERK
0 SAB-401~403/N\7—54 >V INTHE
] i# e ELEME- - ER-HHE Z0h&EBOX
fis % o+ —%F 'H200
Material @ AB-401~2403/Zinc alloy(ZDC)
@ SAB-401~403/Cast stainless steel
(SUS304)
Finish @ AB-401~2403/Satellite chrome plating-
Baked finish(Black)
@ SAB-401~403/Hair line finish
Application ® Voltage transformer, switch box, section
board, control cabinet, and other
various kinds of control cabinets
Remarks @ Key no / H200
#AHFZOILDEBFFTARIIE . ABHBHIED S [HEAHBHLEH] ]
DRHEWRBLET
m B fea & B H()| A # B f
Product No. Remarks Weight Lot Price
AB-401-1 gt 341 40 ¥1,500
AB-401-2 gL 350 40 ¥1,400
AB-402-1 FES 243 56 ¥1,200
AB-402-2 sl 249 56 ¥1,000
AB-403-1 g 188 80 ¥1,050
AB-403-2 PIEL 190 80 ¥900
AB-401-1B | £22%/#ft% 350 40 ¥1,800
AB-402-1B | E2%/§% 243 56 ¥1,650
AB-403-1B | 2% /#ft% 188 80 ¥1,500
AB-2401-1 F e 367 40 ¥1,600
AB-2401-2 L 345 40 ¥1,400
AB-2402-1 FES 266 56 ¥1,300
AB-2402-2 2009 266 56 ¥1,100
AB-2403-1 FNES 199 80 ¥1,150
AB-2403-2 fics::{0) 202 80 ¥1,000
SAB-401-1 & 401 10 ¥7,500
SAB-402-1 T 298 10 ¥6,500
SAB-402-2 sl 296 10 ¥5,500
SAB-403-1 BN EY 226 10 ¥6,000

*—%% H200
Key No.

e —2& LIAGIRER



AB-401/2401-1-SAB-401-1 & with key
AB-401/2401-2 —m) without key

33

8.5
7.5

13.5
12.5

BhzK/¥yFx>/11.0

il

\

Waterproof packing

g

M6Xx12

1]
285

g
8§ l,,:
|
|
I

L

7 Tun 90° Vs

\

i
I

I

-—
\
L

mEAZ /)

q0-

-
I

L REES
| (t1.6)

‘ Adjustment
|, washer

AR

SS(13.2)
SUS(t3.0)

Stopper plate
TR

(84) Installation plate 26
¥ENFTEIEAB-2401-SAB-401
AB-402/2402-1-SAB-402-1 (+—)with key
AB-402/2402-2:-SAB-402-2 +—® without key
8.5 13.5
7.5 12.5 27 T 65
30 BhZK/ SyF%>/11.0 40
Waterproof packing{ M5X10 ‘ ?( 2-¢4.2
7 N ara
AN ] || 9
Y ; o
lins ,/// ] - h T
! mE&mE0 A2 o il
L+ Turn 90° s GRS o |
‘ /@ [i  Adjustment lal
| R JI| washer ,ﬁ\ :
#(ﬁ§~ kg o
: 40° I Ss(t2.3)
| SUS(t2.5) ‘i
L] %topper plate =]
BT IR
(69) Installation plate 23
X ENFETEIZAB-2402-SAB-402
AB-403/2403-1-SAB-403-1 —thwith key
AB-403/2403-2 +—m) without key
8.5 13.5
7.5 125 27 0 65
28.5 BhiZK/Sy%>2 /1.0 40
Waterproof packing{ M5x10 ‘ i 2-¢4.2
|
g | T .
+— Ny . I
i N ”’}E/@
©
_ N T SAEEEES (11.6) A A
B Fi'o90 || Adjustment I _il‘ <>‘b
Turn 90 }\washer Eu%n-n.
il ﬂ:&%é ) ¢
| SsS(t2.3 N
SUS(t2.5) L M4x8
(48) Stopper plate 23

AT IR

Installation plate

B X FETi%IFAB-2403-SAB-403

(e}

45

‘

H-200%&*—
Key No.

W R i

Dimension of mounting hole

[z \ position of handle

] 0
! J &

LIN— \Revolving central

117

SEAREREIE 11.0~2.3mm
Panel thickness applicable to install

WEfFH T
Dimension of mounting hole

L'/N— — Revolving central
ElEzeR/ \ position of handle
|
R
|
|
© \
.

|

\

|
24

EAERENIE 11.0~2.3mm
Panel thickness applicable to install

WE IR
Dimension of mounting hole

L/N—
[EEx D

Revolving central
position of handle

63

- EAREREIL 11.0~2.3mm
Panel thickness applicable to install

14



AT L ABBKERAAL T\ RV

STAINLESS STEEL WATERPROOF FLAT SWING HANDLES

SAB-401R~403R

W OB eATULANTHMMICERTOET.
Feature o A AR (EANERIIIEHELABESZR
RLTLZZEWY)

® Stainless steel handle of excellent
corrosion resistance.

® For both left and right use (the left and
right can be changed by reversing the
stopper plate and adjustment washer.)

B eAFULA(SUS304)

FRENIE @NT—FA 2V INTIRE

B & ofER HER FHE Z0mhE&EBOX

Material @ Stainless steel (SUS304)

Finish eHairline finish

Specific Use ® Power/distribution boards, control
boards, various boxes

Remarks @ Key No/H200

KARMODIEHERFFT AR DL ARABHIED S [#RAHBHIER
DEHEHRBRLET

SAB-401R-1 ( , _!

*—%% 'H200
Key No.

W&
9.0 125 Dimension of mounting hole
Wi B/ ¥y%> /1.0 . .
‘ Waterproof packing L= Revolving central
TN il Bz W position of handle
j‘F;—: 7 _;E” ’*’B‘L’*"Ij
\i;fw /. p ‘
I _ 1% e N ‘
|| mEsE0 7 I\ mams o |
i Turn 90° S i t2.0 HOH |
] /T il Adjustment . 9 ‘
! 4 N\ washer i |
“‘ // \ i ; ‘
@ & gt Y |
W 45° Stopper plate Ed l
il = \ ‘
\f/ 4;.>L \f/ -
(H1) WAt W2 )
TR
Installation plate H200%&+—

Key No. - EBREHREIX. 11.0~2.5mm
Panel thickness applicable to install

o F L, | s | ke | Ls | Le | (Ln)| Le | Wi | W2 | Ws | Wa |(Hn| t |B E@E A % B

Product No. Remarks Weight Lot Price
SAB-401R-1 BTE 149.4| 284 | 116 13 117 | 1356 | 271 72 33 26 10 27 93 3 420 10 ¥7,500
SAB-402R-1 BFE 121 | 254 95 115 96 12 27 65 30 23 8 24 75 25 325 10 ¥6,500
SAB-403R-1 BTE 91 25.4 62 115 63 12 27 65 | 285 23 8 24 53 25 240 10 ¥6,000

15



BA7KEm AL T\ RV

WATERPROOF FLAT SWING HANDLES

3/ABS-451~453

@PAT.PEND. (A&-3E- &5 FE)

A

v o

Ffi7;<

ECAE |

Feature

O KARRED) T\ F &, BikitRELOTVET,
o EAFARE (EANKEI. LHEERBESZ
BRLTTEL)

® Waterproof (using O-ring and sheet
packing)

® For both left-hand and right-hand use.
(the left-hand or right-hand use can
be changed by reversing the cam and
stopper plate)

S S # ¥ e HEHRAE (ZDC)
FHELIE @ AB-450 Y F T/ hyOLsHE
® ABS-450./ I IVN—2&K
H i# e FiEMR - ER- il ZDh&EBOX
fi = o +—%%S 'H200
Material @ Zinc alloy (ZDC)
Finish @ AB-450/Satellite chrome plating

® ABS-450/Silver coating
Specific Use @ Electric distribution and control panels,
etc
Remarks @ Key No/H200

HARMODIEDHEEFT AR NS RABGIED S [#RABHIER
DEHEHERLET

ABS-451-1 r '
&

*—%%S H200
Key No.

IEY_HH?T_TH% )
92 125 Dimension of mounting hole
W BhAK/¥yFx> 1.0 DYATS === V3
Waterproof packing | Revolving central
‘ position of handle
A INEEE
A |
ya REES |
i /4 (t2.3) - ‘
| e Adjustment \
i //’ S washer |
‘ A ‘
1AL T st |
450 Stopper plate \
_— } :
— AR ¥ ' Wa
(H1) Installation plate W2 H200%&¥—
Key No.  -@EREREN. t1.0~2.5mm
Panel thickness applicable to install
& e & B E5@| A ¥ ¥ fi
Remarte L1 L2 L3 La Ls Le | (L7) | Ls Wi Wz | Wz | Wa | (H1) t Weight R Brice
AB-451-1 FENEY 352 ¥1,600
146 | 25 | 116 | 13 | 117 | 135|271 | 72 | 33 | 26 10 | 27 | 93 | 32 40
AB-451-2 L 290 ¥1,400
AB-452-1 FENEY 262 ¥1,300
120 [ 243 | 95 | 115 | 96 12 | 27 | 65 | 30 | 23 8 24 | 75 | 23 56
AB-452-2 FEL 220 ¥1,100
AB-453-1 BT 210 ¥1,150
90 | 243 | 62 | 115 | 63 12 | 27 | 65 | 285 | 23 8 24 | 53 | 23 80
AB-453-2 SEL 195 ¥1,000
ABS-451-1 2 N—28% @& 352 ¥1,600
— 146 | 25 | 116 | 13 | 117 | 135|271 | 72 | 33 | 26 10 | 27 | 93 | 32 40
ABS-451-2 | 2 ILN—%% BEL 290 ¥1,400
ABS-452-1 2 N—28% #H& 262 ¥1,250
R 120 [ 243 | 95 | 115 | 96 12 | 27 | 65 | 30 | 23 8 24 | 75 | 23 56
ABS-452-2 | 2 ILN—3% REL 220 ¥1,000
ABS-453-1 | VIN—2% /#f1& 210 ¥1,100
R 90 | 243 | 62 | 115 | 63 12 | 27 | 65 | 285 | 23 8 24 | 53 | 23 80
ABS-453-2 | 2 ILN—3% BEL 195 ¥1,000

16



BrKBEISEmMAAL TN\ RV s

WATERPROOF THIN FLAT SWING HANDLE

AB-301~303

@PAT.PEND. (A7 -8 E - &7Z - FE)

w OB e ATV I1TBRIEYFELT
Feature @ FX!)fIJENPOILDEETNRITEN12.50#EF
MAqT
O RAEEN') 7 - /Ny F U F BikftkEL>TUE
ER
O ELRARGH (EANER. EHEEABERZ
BRLEY)

® Touching type handle by pressing the
round cylinder.
e Ultra-thin structure, the distance
- between the installation surface and the
lock shim is only 12.5mm.
| ® Adopt waterproof structure at the
= positions like interior cannelure and
surface of the handle.
® The special design of two-way (left and
right) to rotate concurrently (according
to the direction change, stopper plate
and adjusting washer can be turned).

# ¥ o HEIRAE (ZDC)
FENIE e YFFAM/OLHOE
2] i# o FLEMR - ER-HIHE - FOmEEBOX
fii % o+—%% "H200
Material ®zinc alloy (ZDC)
j Finish eSatellite chrome plating
Specific Use ® Voltage transformer, switch box, section
board, control cabinet, and other
various kinds of control cabinets
AB-302-1 AB-302-2 Remarks @ Key no / H200

KARMODILHERFFTARIIE ARABGLED S [#RAHBHIEH
DEHEHRBLET

Oy MERTIREER nstaliation diagram of rods bar

o

/

J ﬁé\\
© )
| \‘
i
\ LIS
AB-303-1 AB-303-2 E SR
Al ~
a2
t /\/” N

S E—EERT LS N Ry T T T
BBy FELTTY,

The touching type by pressing the round cylinder
and the handle can pop out.

%ﬁ_ j
LA
b
m ik &8 =@ A #)| B fi
Product No. Remarks | Weight Lot Price

AB-301-1 gt 362 40 ¥1,800

*‘fj/N "(')200 AB-301-2 L 369 40 ¥1,600
' AB-302-1 mfE 272 56 ¥1,650
AB-302-2 AL 264 56 ¥1,450

AB-303-1 st 206 80 ¥1,500

AB-303-2 AL 197 80 ¥1,300

17



AB-301-1 —hwith key
AB'301 '2 (F—#&) Without key

33

9

BhAK/ Sy /1.0 |

/T

182

¥

0
R )
Vel =
RN e
N/
[E§x 5 £ 90° /]
" Turn 90° //

Waterproof packing\

AB-302-1 - with key
AB-302-2 (+—m) without key

9
Bhk/tyx /1.0 | |

Waterproof packing\

Al

N

| ‘ washer

N kwg / Ca42

AB-303-1 - with key
AB-303-2 (x—®) without key

28.5

L _Ytopper plate
R

(t2.3)

-2-M4x8

Installation plate

a0

|
i|

i
)

9
BhAK/¥yx>/11.0
Waterproof packing\
\
Yo}
<
DN
,,7‘Li,
[El&x/AE90°
Turn 90°

¢

M5X10

AEES
(11.6)

| Adjustment
washer

Wﬂ:&)ﬁ / C-44-2

| (12.3)

Stopper plate
BT IR

Installation plate

Revolving central
position of handle

Revolving central

position of handle

\
\
\
\
\
\
\
|
T

24

H-200%&x—
Key

No.

W RTE
125 27.1) Dimension of mounting hole
MEX12 40} LS
‘ [EIEET
i 0
il 7 N
RO i
gL k % |
e © 1 = !
| Adjustment \ 18 - |
‘ washer ‘
\ MR @ |
k% / C-44-1 ¥ o F \
(13.2) | [[-2Maxs N | |
Stopper plate ‘ X ]
T
A1 N H200E 5 =L
Installation plate Key No.
26 SERFEREN . 1 2~2.3mm
Panel thickness applicable to install
WAL Rtk
12.5 27 65 Dimension of mounting hole
M5x10 40| 2.64.2
‘ L/N—
1 ! @ﬁiﬂh/b\
[@) !
ffffff il I
N .. 1 >
\ RS [To) <> @
i (t1.6) o bod
H Adjustment sl

-EAERENIE. t11.2~2.3mm
Panel thickness applicable to install

WA RTE

Dimension of mounting hole

L/N—

lﬁliz':ﬂlﬂlb\p

Revolving central

osition of handle

63

H-200%*—

Key

No.

I

SEAEWREIE 11.2~2.3mm
Panel thickness applicable to install

18



BR7KEm AL TN RV

WATERPROOF FLAT SWING HANDLES

AB-351~353

AB-351-1 AB-352-1

*—%&% H200
Key No.

AB-353-1 ¥ # e LEPUSHTL/N—HABBAYT 3217 TY
e Feature o £ARMIE (AEOEES LD LHEELEHE
BLTLEZLY)

® The lever can be opened/closed by
pressing the push-button on the top.

® For both left and right use (the left and
right can be changed by reversing the
stopper plate and adjustment washer.)

#  H eHE$pE% (ZDC)

FELE e FSAMN/OLDHOE

B & ofRER HER FlEE Z0m&EBOX
fii % eF+—&FS 'H200

Material ®Zinc alloy (ZDC)

Finish eSatellite chrome plating

(h‘ Specific Use ® Power/distribution boards, control
? | boards, various boxes

Remarks @ Key No./H200
HARBOIEHERFTARI I BABFIED S [#RAFH L] ]

/@/@ DEHEHRBRLET

J | Ah PR
L roduct No. emarks elgl (o) rice

g /&J AB-351-1 R 264 40 ¥1,200

AB-351-2 REL 237 40 ¥1,100

AB-352-1 L] 222 56 ¥1,100

AB-352-2 REL 197 56 ¥1,000

AB-353-1 L] 180 80 ¥1,050

AB-353-2 REL 157 80 ¥950




AB-351-1 —with key
AB'351 '2 (F—#&) Without key

Bhzk/¥y%>/11.0 M5 x 10
Waterproof packing ‘
‘ }
A@:/
RIS )%
EES=Y3e I
=4 Tumn 90° 7N o ©
| 03 :‘ =
‘ ) s |1k / C-46
\ N
! ‘ S (t2.3)
| @ ﬁ T Stopper plate
-/ >
i) LIt
@55) |
(73) L
10.5
AB-352-1 —hwith key
AB-352-2 (+—m) without key
94 133 /S 2M4x10
30 REAK/ Yo% /1.0 — M5 x 10
Waterproof packing
S S -
N
i |/ N~
,/ h /
P //
BElEAZ0 S I
I 1-=HF Turn 90° ‘ ‘
H koé / C-46
A L (12.3)
AR _|i| Stopper plate
</ i
BEED, IS
6
10.5
AB-353-1 - with key
AB-353-2 (+—m) without key
94 133 2-M4 x 10
Bh7K/Sy%2/11.0 M5 x 10
Waterproof packing
<
. o
- s
{ 5 ©
ElExf E90° Y I
ﬁ_} |~ Turn 90° (= n
& I
i SHIBS
S\ kS / C-46
(t2.3)

»

H-200&+x—
Key No.

H-200&+%—
Key No.

Stopper plate

%]
<

H-200%&*—

Key No.

WELfH N~ iE

Dimension of mounting hole

L/N—[EERe

Revolving central 2-R4.5
position of handle
N i T
\
\
\
[T | Q0|
4 +—|Q\l
8 C'O) } —| —
\
\
\
A
27

<EAREREE. 10.6~2.0mm
Panel thickness applicable to install

| ENEANS S
Dimension of mounting hole

L/N—[EERe

Revolving central  2-R4
position of handle
\
\
o || |88
o =
B ||
\
|
\

E A EREE t0.6~1.6mm
Panel thickness applicable to install

WA

Dimension of mounting hole

LN—[El&ER D
Revolving central
position of handle

SEAREWREZ. 10.6~1.6mm
Panel thickness applicable to install

20



BR7KEEAA TN\ RIV o

WATERPROOF FLAT SWING HANDLES

AB-331~333

AB-331-1

AB-331-1

AB-333-1

AB-332-1

¥ M e LIPUSHTLN—DHEAT3217TY
Feature o PUSHIREDEEL. FRAMERDPAL—ATY,
o AT EANEBIILLOELARESEE
BLTLEZW)
® The lever can be opened/closed by
pressing the push-button on the top.
® Smooth opening and closing of lever by
easy push-button operation.
@ For both left and right use (the left and
right can be changed by reversing the
stopper plate and adjustment washer.)

# B eE$pE% (ZDC)

FELE e FSAMN/OLDHOE

B & ofER HER FlEE Z0m&EBOX

fii % eF+—&FS 'H200

Material ®Zinc alloy (ZDC)

Specific Use @ Power/distribution boards, control
boards, various boxes

Remarks @ Key No./H200

HAREDLLHEBFTRARI G EABFIED % [FEABEIEH |

*—%% H200
Key No.

DRHEHRHLET

m & fii & B H@| A % B
Product No. Remarks | Weight Lot Price
AB-331-1 FHRES 400 40 ¥1,850
AB-332-1 fAbEY 340 56 ¥1,700
AB-333-1 EAPES 244 80 ¥1,400




I AB-331-1 ¢—mwithkey

10 _26.5

30 RhK/ %2 /t1.5 —
Waterproof packing
—t—
i
q‘ 2
i . "
| m&mEo0r
L, Turn 90° //
\ NS
i \\\\
y ‘\\/
| B
Hoshjmeflo T
(60)

3-M5x10

mEEe O

(t2.3) -
Adjustment
I\ washer

L\iko4 / C-45-2
(t2.3)
Stopper plate

S BUIAR

Installation plate

| AB-332-1 s with key

10 26.5

Bh7KINy% /1.5

| P
} [E#x5E90° G
Turn 90° S

I AB-333-1 —mwith key

_ 2-M5x10
Waterproof packing

=
|\ REES(12.3)

i . washer

j\ﬂzﬁbﬁ / C-45-2
(t2.3)
Stopper plate

AR

10 _26.5

30 oK/ Sy /11,5 —
Waterproof packing
N
7 52°
<) q— RN
! © X
‘ E$5 E90° -
. HTurn 90°
ST
l}ilmﬂn‘mnmm
(29.9)

\" Adjustment 0
: )

Installation plate

(22)
30!

62 (C-45-2)
2-¢3.2

(22)

62 (C-45-2)

H-200&*—
Key No.

50

H-200%F*—

Key No.
2-M4x10 (22) 62 (C-45-2)
M5x10 30 2-$3.2
coL Z ®)
| | @ 77777 I
i N | \‘
- SRR EES (12.3) @ <§b
|| Adjustment P
V‘! washer Eﬁ

\®2] |
o7t

L(24)

j\m% / C-45-2
(t2.3)

Stopper plate

H-200%&*—

Key No.

¥k £ C-45-200 v MERFRN p420MbH 1) £,
ZAHDBERRESR LTI <20,

BB RTE

Dimension of mounting hole

L/N— Revolving central
El#ExeR/0 \ position of handle
‘ 1)
N e
i
1
= \
- T
\
i
|
|
27
SEAREREIE 10~2.3mm

Panel thickness applicable to install

WA RTE

Dimension of mounting hole

L/N— Revolving central
[El#x9{> \ position of handle
‘ 0
N e
i
o | |
o T 7T
\
i
i
24
SEAREREIE 10~2.3mm

Panel thickness applicable to install

R RTE

Dimension of mounting hole

L/N—[El&ER
Revolving central
position of handle

Lol
0 | o~
o ‘
< ||
|
= =
24

-EAEREI. t0~1.8mm
Panel thickness applicable to install

22



BA7KEm AL T\ RV

WATERPROOF FLAT SWING HANDLES

AB-401A~403A

@PAT.PEND. (A7 -8 E - &7Z - FE)

AB-401A-1

AB-402A-1

LA
CAD

Bk

B @ eAAREAEMDUT - NvFUE KEKRELOTLE
Feature T,
O EARAR (EEDERER. kDR ERHEESE
BRLTTZLN.)

® Waterproof (using O-ring and sheet
packing)

® For both left-hand and right-hand use.
(the left-hand or right-hand use can
be changed by reversing the cam and
stopper plate)

o Finsd % (ZDC)

oY F A /OLOE

o EE MR- HER-HIHE FOMHhEEBOX

o +—%S 'H200

Material ®Zinc alloy (ZDC)

Finish eSatellite chrome plating

Specific Use @ Electric distribution and control panels,
etc

Remarks @ Key No / H200

KARMODIEHERFFTAX DL ARABH DS [#RAHBHIER
DEHEHRBRLET

# =B
RALIE
R &
i *

*—%% /H200
AB-403A-1 Key No.
WEUF T
H. 125 (27) Ls Dimension of mounting hole
Wi RhK/Sy%> /1.0 - 40
Waterproof packing 2-¢p4.2 L/3—— Revolving central
| /i /2( LT \position of handle
i b |
.3 - s Al
1 9 SRR
re : (@) |
Sl e 5 |
|| efsmo N gz o |
Turn 90° ,//’ I (t1.6) 3 I % i > 18 q |
| Sy ‘ Adjustment ‘ > ‘
‘ G| '\ washer ‘
| [P | 18 P2 3] |
’ﬂ]\ f\ Y | -lkoE 1t ] E¥2-M4 X8 o |
Ig) |- , Stopper plate < !
N M ) | \
‘ 7 ‘ ‘ Wa
- ;>L AR V
Hi Installation plate W H200&x—
2 Key No. - ERAEREIL. t1.2~2.3mm
Panel thickness applicable to install
OGN B % 1 e | Lo | Le | Ls | Le | Lr | Wi [ We | Ws |Wa |(H)| He | t (B H@) A ® | & i
AB-401A-1 BN EY 388 40 ¥1,600
150 | 285 | 116 | 18 | 72 | 117 | 135 | 33 | 26 | 10 | 27 | 88 | 113 | 32
AB-401A-2 L 382 40 ¥1,400
AB-402A-1 BN EY 291 56 ¥1,300
123 | 245 | 95 | 115| 65 | 96 | 12 | 30 | 23 8 24 | 73 | 11 | 23
AB-402A-2 L 292 56 ¥1,100
AB-403A-1 BT 225 80 ¥1,150
90 |[245| 62 |115| 65 | 63 | 12 | 285 | 23 8 24 | 52 | 11 | 23
AB-403A-2 EEL 223 80 ¥1,000

23



—EOVIBBKFRALC NNV

AB-401A-1W

*—%5 . H200
Key No.

DOUBLE LOCK WATERPROOF FLAT SWING HANDLES

AB-401A-1W~402A-1W

AB-402A-1W

W{ERB

Example of application

I AB-401A-1W x—m)with key

33

/T\ 0
[o8}
A

_’_’:a

L

-
\

|

1)

ol

r
[

N

11.

3 12.5

Bz ¥y%2/11.0

M6 x 12

/
,////
ya 9 REES
< ‘ 1 (t1.6)

(88)

I AB-402A-1W - with key

30

=

2N

{

X Qs

&

Bh7K/¥y%>/11.0

L\ \uE®»$/C-44-1
(t3.2)
24
BT R
1125
M5 x 10

G

i
U\ 154 /C-44-2

(t2.3)

116

[Te]
(0]

LA
CAD

Bk

M OEREEMIET ABICIOTIEICHETEET,
Feature @ AAFAHRH (EANKERIIIEHELABEEZR

RLTLEZEWY)

® Can be double-locked by a padlock

®For both left and right use (the left and
right can be changed by reversing the
stopper plate and adjustment washer.)

M H eEHHASE(ZDC)
O£ R A7 A (SUS)
FMENE oY FS/h/OLDOE
A & eFxi—-EVI-EER HER HHE £0MmEEBOX

i %

o +—%&S 'H200

Material

®Zinc alloy (ZDC)

® Plate/Stainless steel (SUS)

Finish

® Satellite chrome plating

Specific Use @ Cubicles, distribution boards, control
boards, various boxes
Remarks @ Key No / H200

KARMODIEHEEFF AR IS RABG LD % [#RABHLEH

DEREHRHLET
m & fia &8 E(@®| A & B
Product No. Remarks Weight Lot Price
AB-401A-1W | @Ef4x 371 40 ¥2,800
AB-402A-1W | 4= 273 56 ¥2,650
WA R E
(27.1) 72 Dimension of mounting hole
40 2-p4.2R LN—EER el

]| 18
] [Lz-lvm 8 N
& “ o @

‘ <
‘ H200E*
26 Key No.
27 65
40 %2«1;4.2/\
v
B
4 8 >
| (NS s
T RS PN

o ©
J

H200&x—
Key No.

Revolving central
position of handle

RS

117

SEARERE. 11.2~2.3mm
Panel thickness applicable to install

| ENONS Y-S

Dimension of mounting hole
L/N—EERHD

Revolving central
position of handle

I

96

- EAREREL. t1.2~2.3mm
Panel thickness applicable to install

24



25

—EOVIIKFEmAL TN RV

DOUBLE LOCK WATERPROOF FLAT SWING HANDLES

AB-152~153-1W

LA
CAD

Bk

" &

Feature

O RIS Y BRICL O T _EICHESE TEET .

O ELPHIKAATTIDT.RETY.

o EEFRMRRAH (EADKEIRILD S EFARERER
ERLTLZZEW)

® Can be double-locked by a padlock

e Fully waterproof, safe type.

® For both left and right use (the left and
right can be changed by reversing the
stopper plate and adjustment washer.)

# =

RALIE
R &

i %

o FHna < (ZDC)

oL ER AT LA (SUS)

o /OLY>E-YF IO LHHE

o X1—E/IL-EEER HER HHE FOMERE
BOX

o +—%%5 'H200

Material

Finish
Specific Use

Remarks

@ Zinc alloy (ZDC)

® Pin/Stainless steel (SUS)

o Cr plating-Satellite chrome plating

® Cubicles, distribution boards, control
boards, various boxes

e Key No/H200

KARMODIEHERFFT AR IIE ARABHIED S [#RAHBHIEH

34

DEHEWRHLETY
m B i = B E(®A B %
Product No. Remarks Weight Lot Price
AB-152-2-1W AB-152-1-1W| ~0L8%Ho% 550 40 |¥3,800
AB-153-1-1W J0OLDH>E 358 40 |¥3,700
AB-152-2-1W | #F51hy0L®H2% | 550 40 |¥3,800
AB-153-2-1W | #751hy0L8o% | 358 40 |¥3,700
AB-153-2-1W
I AB-152-1W - with key W Rt 5
Dimension of mounting hole
6.0 30.7 27.3) 100 (C-43R) L\~ Revolving central
B/ Sy% 1.5 27.5]13.2 40 2-94.2 Sl \ positon ofhandle
Waterproof packing 1 rMexi2 E%Jﬁ
_ |
v |
E45 £ 90° X% T = | !
Turﬁ 9(?’ S )G \\ﬁL\*&(tS) A \
7 (N i Cam plate o — ‘
{(\%e MR\ epe32) = |
DY I “ Stopper plate ‘
i N1 |
Il - Installation |
plate 30
81) 12855 29 H-200%&%—  -ERERELI15~32mm
Key No. Panel thickness applicable to install
- - P HIESH S C-45-200 v MERFAAN ¢ 420MbsB N £ T, WEfRsHE
FAB-153-1We—mwinkey 23802t i e Dimension of mounting hole
58 27.8 22) 62 (C-45-2) L/S— Revolving central
Rk S 1.5 ‘ 255 2.3 @iﬂﬂw\position of handle
| M5x10 ‘ 0
| TV LIS
- o I -
| ,f" A — !
g |
El&x /A E90° o 20 = |
16 - i
LR I_'?EI L o J
(t2.3) ] M5x10 © ‘
L% /C-452 —— 27
(t2.3) 26 H200%%—  -EBRHELH5~32mn
(TR Key No. Panel thickness applicable to install




—EOVIBBKFRALC NNV

DOUBLE LOCK WATERPROOF FLAT SWING HANDLES

Wi

Dimension of mounting hole

ZAse

LA
CAD

Bk

ECAE |

Feature

Revolving central position of hanale

N

0
(o0]
=

O BIREEZEMESE T HRICK O T EICHETEET,
O EEBIKAATTINT. RETY.
® EhFRMARE

(ERDKER. ILHEEHBEEEFRLTTEL,)

® Can be double-locked by a padlock.

® Fully waterproof, safe type.

® For both left-hand and right-hand use.
(the left-hand or right-hand use can

T
|
o ‘ be changed by reversing the cam and
— ‘ stopper plate)
f | #  H eTHAR(ZDC)
fq(f 1 e £HH AT VLA (SUS)
i | FHEWLIE 0 YFSAN/OLDHOE-IOLDHO>EN2FE
| B & eFxai—EJI-BEER FER -HHE TOMERE
AB-252-2-1W , 30 BOX
*+—&% H200 _ —&5
Key No.  ~ERBEREWR. 11.5~3.2mm i % e¥—#5/H200
Panel thickness applicable to install Material ®Zinc alloy (ZDC)
® Plate/Stainless steel (SUS)
Finish eSatellite chrome plating/Chrome plating
115 28 (27.3) 72 (C-45-1) Specific Use ® Cubicle systems, electric distribution
40 45? M6 x 12 and control panels, etc
BRI SyF¥> 1150 T Remarks @ Key No/H200
( <« . HARGOIEHEEBFITRAXIIE. BAHBHIED S [EABHLEH] ]
W Jﬁ N g 22 | DEHEHRHRLET
AN X 0 5 =
! 9@0%)5%@; 14 5: } 1 \0 grg)duct l\%. @emark? EV%g(ﬁ) AL?;& ¥;=’ric1eilﬁ
L % PADLIR o < AB-252-1-1W|  vobLso% 677 | 40 [¥3,800
/ﬁ PO J% - N (23) I 20 AB-252-2-1W|[¥F51tsOnox| 677 | 40 |¥3,800
I | w N i TR P \2-M5 x 12
T i~ T (t3.2)
‘ [ g =] Q
@&Ef 95 || B4R E3) 3
\ — Y
N 101 59 H-200%%—

BRI NN

THIN FLAT SWING HANDLES WITH SEALING

AB-453F-1

Key No.

%

v o 7
CAD

Bhk

AB-453F-1

B RTE

Dimension of mounting hole

" o#&

Feature

LN—[E#ERH
Revolving central
position of handle

O HENY BEAHEKET
o EEFARNELEDKERIEHEERBEREZE
RLTLEZWY)

Q
.‘“ \t'

® Can be sealed.

@ For both left and right use (the left and
right can be changed by reversing the
stopper plate and adjustment washer.)

o FEinEE (ZDC)

oL AT UL A(SUS304)

o Y FSAhyOLsoE

o FLE MR- E R FIHR- FDOMEEBOX

NS
*—%% 'H200 \
Key No. 3 ‘ L
| FELIE
; A&
Material
24

Finish
EABREREE. t1.0~2.5mm Specific Use

Panel thickness applicable to install
Remarks

@ Zinc alloy (ZDC)

® Pin/Stainless steel (SUS304)

® Satellite chrome plating

® Power/distribution boards, control
boards, various boxes

e Key No/H200

HARMODIEDHEEFT AR IS RAHBEIED S [FRABH IR

9.2 ‘ 12.5 27 65 DEMEHRHLET
28.5 N
B/ %2 /1.0 M5x10 40 2.64.2 o
| Waterproof paCkiné\ ] ?( ¢ g::)duct E. ﬁemarks%- = W;i!;h(tg) ALot& ¥;"ric!eilﬁ
| :r). i C AB-453F-1 B 220 80 ¥2,200
LY o M7 | 9
J I W{ERA
= o A 0 18 Example of application
! g = N|— AN
%/ EE90° < PSEEEES(12.3) ©- o
| Turn 90° / | Adjustment ‘ ¢
=~ 145¢ i washer =
NV C-44-2(12.3) 1D \
"\ Stopper plate ~ M4x10
H-200&*x—
BUfHHR 23
Installation plate Key No.

26



BA7KEm AL T\ RV

WATERPROOF FLAT SWING HANDLES

LA
CAD

Bhzk

AB-431R-

AB-432R-1S

1S~433R-1S

AB-433R-1S

*—%%,SC2000

¥ O eARGREmMD/NYFUF. BHKERELO>TULET,
Feature @ EEFFANFT (EENEEIL. LHELHEESZ
ERLUTTFELY)
0 AB-431R-1S~433R-1SIZI&SC20000#EH
SETENTWET . 200FF—LISHOEDEIEIC
SO . eFa)FrOmLEZRYELE.
eSC2000F =MDV E—ldE> 2> T5—
BET. BORZZELIPBROSHTY,
® Waterproof (using sheet packing)
® For both left-hand and right-hand use.
(the left-hand or right-hand use can
be changed by reversing the cam and
stopper plate)
©SC2000 key for improved security is
set by the management of non H200
keys.(AB-431R-1S~433R-1S)
® The cylinder of SC2000 key support is
pin tumbler structure so, insertion and
extraction of the key is smooth.

# ¥ o HEIRAE (ZDC)

FENIE e YFFAM/OLSHOE

H i o FiEMR - ER-HIHE - FOmEEBOX

] # e+—%5 /SC2000(AB-431R-1S~433R-1S)

#AB-432R-433RICtzyhEN TS IEHRIE. TVBITFT
ZERLLEZL,

Material ®Zinc alloy (ZDC)

Finish eSatellite chrome plating

Specific Use @ Electric distribution and control panels,

etc

Remarks @ Key No / SC2000 (AB-431R-1S~433R-1S)

¥ Please use bending the stopper plate, which is
set to AB-432R-433R

HAREOLLHERATARI . EABFIED % [FEABEIEH

Key No. ?
DRHEWRHBLET
MR
Dimension of mounting hole
He 12.5 (L7) Ls
Wi e N 4 .
W aﬁtzk:c: Ojf*;étk? 65 M6 x 12 0 LIN— Revolving central
‘ p p g [EETR==10 K position of handle
m _IN =i ‘ J _I‘D
Featn bii -H
4+ A A:ﬁ |
||| mmrE0 Ci-mmmmEse |
| Turn 90° s Va I (t2.3) i
‘ 7 Adjustment o E |
r/ washer ‘
! Eoét |
} L Stopper plate \
oo w
SC2000&F— }
| B 1R | Key No. w
./ Installation plate V -
W2 _
ETL SERFEHRE. 11.0~2.8mm
@\ Panel thickness applicable to install
AB-433R-1S
moE L Li | Lz | Lo | La [ Ls | Le ()| Lo | Wi | Wo | Wa | Wa |(H0| t [REE)) A B
AB-431R-1S| #+%(SC2000) | 149 | 28.3 | 116 | 13 | 117 | 135|271 | 72 | 33 | 26 | 10 | 27 | 925| 32 | 355 40 | ¥1,900
AB-432R-1S| #f4%(SC2000) | 121 | 254 | 95 |115| 96 | 12 | 27 | 65 | 30 | 23 | 8 | 24 | 748 | 23 | 265 56 | ¥1,600
AB-433R-1S| ##%(Sc2000) | 91 | 253 | 62 | 115| 63 | 12 60 | 285| 23 | 8 | 24 |536 | 23 | 211 80 | ¥1,500

27



LEIBIAE/ N NIV

L TYPE PLASTIC HANDLES

LA
CAD

Bh7K

ABP-901~903(V-G-M)

OPAT.PEND. BB eRODIKIHE CF—U2 T Bk Ny AER).
Feature @ FEitA&ICHAERT 2L . WEMHICBATULE
ERB
® RIS
® Waterproof (using O-ring and sheet
packing)
®Zinc alloy inserted, so it's corrosion-
resistant.
® For both left-hand and right-hand use.
i
= #  # e ABSHifE- 1Y —IMBERE S (ZDC)
E % & eV-R—Ja1-G-JL—M-ERY)—>
H i# oBAF1—EJ I -EER FER FIHE ZOME
&BOX
fi % o¥+—%% "HO001
n 0 200FF—MZ1 7EMUZEAATHUET
| Material ® ABS resin-Insert/Zinc alloy (ZDC)
v Standard Colr @ V-Beige-G-Gray-M-Moss green
/ Specific Use ® Qutdoor cubicles, electric distribution
| and control panels, etc
| v Remarks @ Key No / H9001
e Have cylinder of No.200 key type.
F XARBOIEHERFFTARD IS BABFIED B [#RABHLEHF |
DEMEHRHLET
- *—%%,/H9001
Key No.
ABP-901V-1 ABP-901V-2
Wi Hi Ha Hs S
— We Ha 3 Adjustment washer
= I
< ¢ £ 1’ é, % i
= A BraN al
s N A% \\\ Heo
e 7 1 /AN N 1
S AN N " Fok M
O el ) Nut W R
X O Hs RTES Dimension of mounting hole
i ) Spring washer
@§iﬁf§60° i Eiﬁﬂ§60° B/JJ-7J</\°‘7#"/(H 0)
(£8%) | (BaE) C Waterproof
Tun60° \L /[] Tum60° packing 19
(open to left) (open to right) ]
o (U
W3 34 (] ﬁih
9001 &+ —
Key No.
o & B BfEms
m B B B EIL | Lo |Wi| W2 |Ws|Ws Ws|We| Hi|Hz | Hs|Ha| Hs| P | M |oDi oD BE®) AR giappgy #
ABP-901V-1 BFE 511 ¥2,300
ey r— 154| 7 |575/40 |25 |70 |42 |10 |61 | 9 |40 |24 | 6 |50 |24 |30 |25 40 95t ————
_ABP-901V-2 | L 567 ¥1,600
ABP-902V-1 BFE 322 ¥2,100
—————— =1 1195 6 | 50 | 32 228/ 60 |32 | 8 |55 | 6 (375 20| 4 |40 |22 |27 | 23 28 Tt B ——
M BEL 366 ¥1,500
ABP-903V-1 EFE 322 ¥2,100
_— 106 6 | 50| 321|228/ 60 | 32| 8 |55| 6 [375/ 20| 4 |40 |22 |27 | 23 28 Tt —
ABP-903V-2 L 340 ¥1,500
ABP-901G-1 gt 511 ¥2,300
—_ 154| 7 |575/40 |25 |70 |42 |10 |61 | 9 |40 |24 | 6 |50 |24 |30 |25 40 95t — —
_ABP-901G-2 | L 567 ¥1,600
ABP-902G-1 . gE 322 ¥2,100
—_— JL— 1195 6 | 50 | 32 (228/60 |32 | 8 |55 | 6 (375 20| 4 |40 |22 |27 | 23 28 Tt —
M BEL 366 ¥1,500
ABP-903G-1 BFE 322 ¥2,100
_— 106 6 | 50| 32 (22860 32| 8 |55| 6 (375 20| 4 |40 |22 |27 | 23 28 Tt —
ABP-903G-2 SBEL 340 ¥1,500
ABP-901M-1 gt 511 ¥2,300
—_ 154| 7 |575/40 |25 |70 |42 |10 |61 | 9 |40 |24 | 6 |50 |24 |30 |25 40 95t —
_ABP-901M-2 | SBEL 567 ¥1,600
ABP-902M-1 . EFE 322 ¥2,100
e [ = C7 L) B 1195 6 | 50 | 32 228/ 60 |32 | 8 |55 | 6 (375 20| 4 |40 |22 |27 | 23 28 Tt —
M gEL 366 ¥1,500
ABP-903M-1 BFE 322 ¥2,100
_— 106 6 | 50|32 (22860 32| 8 |55| 6 (375 20| 4 |40 |22 |27 | 23 28 Tt —
ABP-903M-2 SBEL 340 ¥1,500

28



LEIRHK/ N>R

L TYPE WATERPROOF HANDLES
AB-901~903-SAB-901~903

OPATPEND. (F-HE-hE) BB e RODBIKEIE(F—U T Bk v ER).
Feature ez ik

® Waterproof (using O-ring and sheet
packing)
® For both left-hand and right-hand use.

# % e AB-901~903 #Hin&%E (ZDC)
®SAB-901~903, A7 LA (SUS304)
FmELiE @ AB-901~903 /70O0LHHE
® SAB-901~903 $Rm/\ 7 &
2] i# OEAF1—EVI-BRER - HER -HHR - ZOMME
EBOX
fii % o x—%S 'H200
®AB-901~903 /H500& &1 7DF—U>
F—HWMUZAZTHYVET ., (BEVICEHR)
Material @ AB-901~903 / Zinc alloy (ZDC)
® SAB-901~903 / Cast stainless steel
(SUS304)
Finish @ AB-901~903 / Chrome plating
® SAB-901~903 / Mirror surface buffing
Specific Use ® Outdoor cubicles,electric distribution
and control panels, etc
Remarks @ Key No / H200
® AB-901~903 / Have cylinder of no.500
key type (have different key type, too)

HAREDLLHERATRARI . BAHBEIED % [FEABEIEH |

DRHEWRBLET
m B fE = B =2(@®| A # B Off
Product No. Remarks Weight Lot Price
AB-901-1 g 454 40 | ¥1,600
AB-901-1 SAB-901-1 AB-901-2 SRAEL 454 40 ¥1,300
AB-902-1 g 241 60 | ¥1,500
AB-902-2 L 247 60 ¥900
j i AB-903-1 i 204 60 | ¥1,400
s / AB-903-2 L 211 60 ¥800
SAB-901-1 | @mff= 541 40 | ¥7,500
SAB-901-2 | #@mL 559 40 | ¥6,000
SAB-902-1 | @mff= 283 60 | ¥6,500
$—%2 /H200 SAB-902-2 | L 308 60 | ¥5,000
Key No. SAB-903-1 | #ff= 234 60 | ¥6,000
SAB-903-2 | L 255 60 | ¥4,500
% H500% % 1 7
No.500 key type
(#
©
o

e

\
A

*—%% H500

o
o
Key No. —

100

O w @

@/\> RIL-REBEDIREAER
(Strength test for the handle, lock, etc.)

184 (Stopper plates)

i, AT TS T BRAR LR BERT L, B e, | B e,
(FRIRSEHFTY) 8 8
Stopper plates are placed in the general catalog. ®5I5RY 100
Please select the square hole according to your applications before using. pull out
The drawings below are examples for reference. S ke N
NURIL ®F & 100
Handle Press in
CF B
_ Vertical from head to foot 100
w5 om Y .
lock Turn out
I BB ,
Installation position of €550 50
Pull out
stopper plate




AB-901-1-SAB-901-1 - with key
AB-901-2:SAB-901 -2 +—m without key

50
a7 oy *
/"/ N Q
/,' ’// ~ \\\ —
e - N\
///:/ - - < \\\\\\\
(7 EEAEED’ EHARC0 R
o0 (EER) (HBZ) -
= - Tumn60° Turn60°
(open to left) (open to right)

(103.8)

H200%*— (15.3)

Key No.

AB-902-1-SAB-902-1 (+—awith key
AB-902-2:-SAB-902-2 (+—m) without key

CL
\—"Z
o
T ~ .
/’/ ~ \\\\ S
e P NN X
////// \\\\‘\:7
- B&AE60 EEEAE60° -
(ZF%) AR
Turn60 Turn60°
(open to left) (open to right)

57 AE %

(12.4)

(84)

AB-903-1:-SAB-903-1 ) with key
AB-903-2:SAB-903-2 (+—m) without key

37.5
22
o
el
X N
X | B SN O\ 8
//,i// | ~._ )Z \\ -
“memeo] || [mEsE60 ~
(ZRA%) (BRA%)
Tun60® | [/ Tum60°
(open to left) ~H(open to right)
L (11.6)
(68.6)

Waterproof packing

7% SAVE 32
Waterproof packing — sg#EE 4 (12.0)
Adjustment washer
51 225 8 / 51
[ ] SARES (13.0)
‘ Adjustment
\ washer RE7KI Sy %>
Jﬂ, ] Waterproof packing
M6 x 14
0o 0
) 5l
AWE Fvh(M22) ©
! Nut
v | BT EES A
¥SAB-901 /)Ty WET R
Dimension of mounting hole
36
%SAB-901 RENFTER . prommpaiRE
=AEARREE 18.5mm
31 Fvh(M22) SAB-901 Max applicable panel
thickness is t8.5mm
42 143 5 FAEERES (11.0)
‘ Adjustment washer a1
SARES (12.0)
52 1.5 Adjustment washer 30
| (32) iz CAVE %
2 M6 x 14 % é § " Waterproof packing
| b 7o §
LO - \ Il
| NG
b s
o \j'/h (M22) R ‘ .
Nut [ v
Dimension of mounting hole
285 HEES ¢
¥SAB-902/ LT T4 'L'?\b‘

25 MBNFTER
SAB-902 _
-RAEAEREE 15.5mm
Max applicable panel
thickness is t5.5mm
FAEES(11.0)
3851435 Adjustment washer
HEE2 4 38.5
5 SARES (12.0)
Adjustment washer (e QAL
NI M6 x 14 Waterproof packing
i
| o)
il <
S Fob(M22)
Nut WA RT &
26.5 Dimension of mounting hole
EftEES N
%SAB-903/)> T 7viv Q;?\
23 BHK/ Sy %> Q’Lfb

Waterproof packing

115 )
KBEXFETEIR
SAB-903 & f

-RAKEAEREE. t5.5mm
Max applicable panel
thickness is t5.5mm

30



LEIRGIK/ N\ RIL (et 2) o

L TYPE WATERPROOF HANDLES(BAKED FINISH)
AB(S:V-G:M)-901~903

@PAT.PEND. (Hx-HE-HE) BB eRODBKIEE (F—U T BNy FAER)
Feature @ FAFFR:E

® Waterproof (using O-ring and sheet packing)
@ For both left-hand and right-hand use.

¥  E emEipd® (ZDC)

FmEnE e 7o) LRI ER
- 2 % & e ABS-VIL/N—ABV-X—1-ABG-FL—-
,-f“"’ ABM-ERGY—>
1 H & eBAF1—-E/I -BER HEE FIHE ZOHhEEBOX
fi % ex—%E 'H200

OH500F 41 7 DX —I UV E—6BYZAXTH

WEY, (EEWVICHIR)

Material @ Zinc alloy (ZDC)

Finish e@Acrylic resin baked

Standard Color ® ABS-Silver-ABV-Beige:-ABG-Gray-
ABM-Moss green

Specific Use ® Qutdoor cubicles, electric distribution
and control panels, etc

Remarks @ Key No / H200

®No0.H500 key cylinder, individual keys

also available.

KARMODIEHERFT RIS ARABHIED S [FRAHBHIER

DRTERERLET
©
<
W‘ @ &
o o
(@] o
ABV-901-1 ABS-901-1 - -
2 Ey.|
@ ,,

@/\> RIL-BEBZDIRESRER (Strength test for the handle, lock, etc.)

Name load bearing direction load bearing strength

®515R") (Pull out) 100

AL (Handle) £ (Press in) 100

. © =B 100

(Vertical from head to foot)
$28B (lock) ©%&4) (Turn out) 50
8 o]
(Installationﬂ;ofiarﬂ\yg;tripper plate) ©513RY (Pull out) 50
m B =] fi & B ZH(@ | A #| ¥ i
Product No. Color Remarks Weight Lot Price
ABS-901-1 gt 454 40 ¥1,800
ABS-901-2 S 454 40 ¥1,500
ABS-902-1 . S5 241 60 ¥1,700
ABs9022 | VT = 247 60 | ¥1,200
ABS-903-1 1t 204 60 ¥1,600
ABS-903-2 BE 211 60 ¥1,100
ABV-901-1 gt 454 40 ¥2,000
ABV-901-2 S 454 40 ¥1,600
ABV-902-1 N it 241 60 ¥1,800
ABV-902-2 S 247 60 ¥1,200
ABV-903-1 fang 204 60 ¥1,700
ABM-903-1 ABV-903-2 prom 211 60 | ¥1,100
ABG-901-1 Eft 454 40 ¥2,000
ABG-901-2 S 454 40 ¥1,600
ABG-902-1 ABG-902-1 S et 241 60 ¥1,800
ABG-902-2 S 247 60 ¥1,200
ABG-903-1 gt 204 60 ¥1,700
ABG-903-2 S 211 60 ¥1,100
ABM-901-1 S 454 40 ¥2,000
2 ABM-901-2 S 454 40 ¥1,600
- ABM-902-1 ) st 241 60 | ¥1,800
—_——— ERT)—>

ABM-902-2 S 247 60 ¥1,200
+—FE2  H200 ABM-903-1 S 204 60 ¥1,700
Key No. ABM-903-2 B 211 60 ¥1,100




1-1 G- with key

(S-V-G-M)-90
(S'V'G°M) '90 1 '2(4’-—%)Without key

REES (12.0)

50
51 225 8 Adjustment washer 51
6| 1.5 AEES (13.0)
s Adjustment washer BEK/ Sy %2
= - M6 x 14 Waterproof packing
i 5 o
AT - ST 3
e N
e ~o g !
- _~ - N O\ — s
s ~ N AN — WELfHFRTE
e U F vk (M22) Dimension of mounting hole
(~— mEpEe Il {EEREE0T 36 Nut 2685
20 (ER%) (BR%) - 0%
Tumn60° Tumn60° Wi EES &
(open to left) (open to right) < ,
——
103.8 IAVED _
: ! I\3/)\!;e7ljt<erpr/oof/packing - RAEAREREI. t8.5mm
31 Max applicable panel
H200% ¥ — thickness is t8.5mm
AB (S*V-G+M) -902-1 s with key
AB (S:V:-G*M) -902-2 +—m without key
40 42 143 5 FREEEES (11.0)
Adjustment washer 41
SAES (12.0)
52 1.5 Adjustment washer 30 Bk Sk
i KINyHx
== . 3 M6 x 14 " Waterproof packing
= i/ |
RO 5 -({{0)
NS . i )
2 NAY SO b = WA R
/’//‘//‘/ | \>>‘\\\‘\ 8 § a"‘/th('\/'zz) Dimension of mounting hole
e //‘ ‘ \ . x} - u
<~ maszer| || | EEAEe0T~ L 28.5 S o
(ER%) ‘ (AFEZ) - 22
( Turmn60° ) ‘ ( Tumn60° ) & Q
open to left open to right ™
| [P sk Sk
Waterproof packing 7
t (12.4) 25 ARSI, t5.5mm
(84) Max applicable panel
thickness is t5.5mm
AB (S*V-G*M) -903-1 s with key
AB (S:V:G+M) -903-2 +—m without key
SREES (11.0)
385143 5 Adjustment washer
375 . BEES (12.0) 385
T— Adjustment washer Bh7K I S 2>
[ ~ ‘ M6 x 14 Waterproof packing
I\'T‘\> e ) 0
) /'*\1 = S
s O o) h
e RN o Fvh(M22) WIS
- §< Qi/\ Nut Dimension of mounting hole
s LR = o
7] Fid L 7 P\
( Tumn60° ) ( Turn60° ) EfSES W Q‘l'?’
open to left open to right
L (1p1 6) ’ 23 Bpok/vs% ) J‘
(68.6) : Waterproof packing f

‘ExAEAEREE 15.5mm
Max applicable panel
thickness is t5.5mm

32



LEYBHIK/ N>RV

L-TYPE WATERPROOF HANDLE SAB-700/ (1) BARBR I ¥ FHARSES
AB-701~703-SAB-701~703sus)

@PAT.PEND. (A7 -88E - &7Z - FE)

1’1 L
L AN AN 4
STOCK noHs Bk cAn

BEXEBEESE S (MAFERIEE)

¥ A e DDBEKEE

Feature (QU> /&, ¥—RNyFUICKBBHKERE JIS
C 0920-1982 4.5 & M)

O JILARPHLLU A EBYRT LR (TILT
TAIL)E FIZKLST oY U LN—1REDRER
[t

o A —/NILISIR DB R =L IHPTERIER VAR
R=AFHAL,

® AB-701~703 /&&= (ZDC)

®SAB-701~703 /A7 LA (SUS304)

O AB-701~703,//0L&>E

O SAB-701~703,/5HE/\7HHE

i# e BAF1—E/IN-BER HER HIHE ZOMhEEBOX

% oF—%% 'H200

OH500FZA 7 DF— UV E—ERUZEAATH
VEY, (BEVRITEHYET.)

® AB-701~703 / Zinc alloy (ZDC)

® SAB-701~703 / Cast stainless steel (SUS304)

® AB-701~703 / Chrome plating

@ SAB-701~703 / Mirror surface buffing

® Cubicles, control cabinet, and other
various kind of control cabinets

e key no / H200

@ Have cylinder of NO. 500 key type (have
different key type, too)

KA ILHERFTARINE BABG DR [HEHBHLEH] ]

RALIE

= 3

Material
Finish
Application

Remarks

33

DREREHRBLEY
AB-701-1 . T i = B E@| A B | ¥ @
Product No. Remarks Weight Lot Price
AB-701-1 RIFE 470 40 ¥1,600
AB-701-2 HEL 469 40 ¥1,300
AB-702-1 RIFE 332 60 ¥1,500
AB-702-2 L 241 60 ¥1,000
AB-703-1 EES 194 60 ¥1,400
AB-703-2 BEL 199 60 ¥900
SAB-701-1 RBAFE 539 20 ¥8,000
SAB-701-2 REL 556 20 ¥6,500
= SAB-702-1 $FE 290 20 ¥7,000
il SAB-702-2 | @#EL 305 20 ¥5,500
SAB-703-1 EEE 240 20 ¥6,500
= = il 250 20 ¥4,800
e HEO SAB-703-2 | #fmL
Key No.
J1)y 7 A Bk JV)y 7 2 ElgzkF
(ZFZEAEARR) (BFRZFEALERR)
While the handle turn right While the handle turn left
(Open the door to left front drawmgp 7‘,« — Open the door to right, front drawing)
,/’/ \i‘
B ™~
T SOy
,\(//’ . \)2\
AB-703-1 N i
SAB-702-1 -703- N e
\\\\ /7/,
ZEDZIEIN _EICBBHRIC BOZIEND _EICHBHRIC
N=Z%&tyrLTTEW, N=Z&tyhLTTEW,

s Make the character of "left" above, Make the character of "right" above,
By MERAHIRAEE form a complete set with the base _ form a complete set with the base
Installation diagram 9 ﬂ N
of rods bar i

() AR L N—BEERDRFDIRRETT
(note) Figure is a state when the lever is
a right rotation.

@/\> RIL-$#EBZDEERER (Strength test for the positions likehandle, etc.)

/1
L
Name load bearing direction load bearing strength
®5[3&") (Pull out) 100 100 100
N ; mm mm
AL (Handle) £ (Press in) 100
© £E 100
(Vertical from head to foot) © —®
$2%B (lock) ©#24) (Turn out) 50
. . O FHMET NTBATVET,
) ﬂ:ﬁ_’fmﬁ“rs ®3[3&Y) (Pull out) 50 The test of the above positions have
(Installation position of stopper plate) suoerior to the stated standard.




AB-701-1-SAB-701-1 =—with key
AB-701-2:SAB-701-2 +—m without key

50

Turn60°(open to left)

(BR%)
Turn60°(open to right)

(105.5)

148

AB-702-1-SAB-702-1 (+— with key

AB-702-2:-SAB-702-2 (=—m) without key

40
23.5

(ZFZ)
Turn60°
(open to left)

O E60°
(BR%)
Turn60°®

(open to right)

(85)

50 5
52 225 .8 50
615 | 1
1 M6x14 | 2-98
,\ o
| D /’ I Iy LO l
/,f | Qe Al \ T 6
IND N 7 ™ 3
\ TR H—200%&*x—
D - B Key No.
- \ N WEUFRTE
X Dimension of mounting hole
i EES Rirs 2 &
SAB-701/U24753
- SAB-701/\)>9 75+ g __7{9 23
Bk sty /1.0 2
Waterproof packing f o
| N ;
2-98.5
3 gf
MBHXFTEIFSAB-701 -
-RAEAEREE 18.5mm
Max applicable panel
thickness is t8.5mm
435 143 5 40
52 1.5
1
M6x14 2-¢p7

120

AB-703-1-SAB-703-1 ) with key

AB-703-2:-SAB-703-2 (=—m) without key

37.5

%A £ 60°
(Z£RA%)
Turn60°®

(open to left)

(open to right)
(70)

100

|
/ o o
\’*’ n 9]
U FvhkM22 WEfT L R~TE
Nut Dimension of mounting hole
0.\ | wiEEs
¥SAB-702/1)>0 7y 4
Bh7K/¥y%>/11.0
Waterproof packing
25
‘RAEAEREE 15.5mm
Max applicable panel
thickness is t5.5mm
40 143 5 37.5
5 1.5
% M6X14 | 2-¢7
|/ £ _
\77 r
FvhM22 W st
28 Nut Dimension of mounting hole
HEESE
¥SAB-703/1)> 77y

Bh7K/ Sy %/11.0
Waterproof packing

23

‘RAEAEREE 15.5mm
Max applicable panel
thickness is t5.5mm

34



LEIRHIK/ N RIL (g ) A E)
L-TYPE WATERPROOF HANDLE

AB (V-G*M)-701~703

@PAT.PEND. (A7 -8 E - &7Z - FE)

¥ A e DDBEKIEE
Feature (O /&, —MNwFUICKBBhKERE JIS
C 0920-1982 4.5 &
O LALLM BYPTULER(TIT
TAIL)E FIZKLST oY U LN—1REDRER
IZ1TA %,
O A —/NIVARDBUF N —RE /I EIE R OE R
N=RTH1>,
#  H eH$pE% (ZDC)
SKELIE o 70 IVBIRER 2R
£ ¥ 5 e ABV-N—21-ABG-J/L—-ABM-ERF)—>
B & eBAFi—EJII-BEER SER FHE FOME
&BOX
i % e*x—%F%S H200
OH500F XA 7DF— ) A—6BYEATEHY
9., (BEOVEITEHUVET.)
Material ®Zinc alloy (ZDC)
Finish @Acrylic resin baked
Standard Color ® ABV-beige. ABG-gray. ABM-moss green
Remarks @key no / H200
@ Have cylinder of NO. 500 key type (have
different key type, too)

KARMODILHERFTARINE ARABH DS [#RAHBHIEH]
DEHEHRBLET

1E 8% (Stopper plates)

Lk &IF MEHZOTIIBHL CEVET BAARDLDEEUENER TV,
(FRIESERITY)

Stopper plates are placed in the general catalog.

Please select the square hole according to your applications before using.
The drawings below are examples for reference.

ABG-702-1

e

ABV-701-1

o B fii % B (| A % | ¥ @
Product No. Remarks Weight Lot Price
AB(V-G-M)-701-1 $fFE 470 40 ¥2,000
AB(V-G:M)-701-2 | gL 469 40 ¥1,600
i AB(V-G:M)-702-1 |  sfdx 332 60 ¥1,800
AB(V-G:M)-702-2 | gL 330 60 ¥1,200
= AB(V:G:M)-703-1 |  g@fdx 194 60 ¥1,700
AB(V-G:M)-703-2 | L 199 60 ¥1,100
*—%S /H200
Key No.
0 {EE FH 75 7% (Method of application) ~ ABM-703-1
O B 5 ® B R © & &= o
EERVWTEX—EELIAA, LN—3% A A EHREA E%Eﬁbf:{&l//o\—%mh_)ib\
AE~80°EILET 60 HERs € 3ERRERET, X—EEN B0 ELIEIELET,

Unlock

Open the front cover and insert the key

Turn left by 180°

\

(ARIFARE TIERLTVET)

Open the door
Turn the handle left or right
upwards by 60°. and then Can
open the door

(this diagram is made as

per turning right)

e

MESER IS DL TEEBHD T I,

Lock the door

Revert the handle after closing the door
Turn the key right by 180°,,and then the
door is locked

Do close the front cover

after locking

the door




01-1 - with key
0 1 '2(4’-—1?.!‘)Without key

50
28.5

AB (V-G-
AB (V-G-

(105.5)

(open to right)

M) -702-1 &) with key
) 702 2(4’— —3#) Without key

40
23.5

(open to left)

Turné0’
(open to left)

™~
~

B35 E60°
(BREZ)
k Turn60’
(open to right)

(85)

-G-M) -703-1 —#hwith key
G M) 703 2(4‘— —#%) Without key

(FiBF2)
Turn60
(open to right

. S
~

52 225 8 50
6 |15 |
1 M6Xx14 1 2-¢8
|/ —
) /
_ ol . | 0
\ | N )

37

— - R FRTE

WTEEES

RhK/Sy% /1.0
Waterproof packing

Dimension of mounting hole

120

31
R AKEAEREE. t8.5mm
Max applicable panel
thickness is t8.5mm
435 143 5 40
5.2 1.5
1 |
M6Xx14 | 2-¢7
} W Rt i
\—— H Dimension of mounting hole
30 ‘
TS %
BhizK/ ¥s%2/11.0 }
Waterproof packing
25 -BAEAFEARE I 15.5mm
Max applicable panel
thickness is t5.5mm
37.5

100

23

| ENONS S-S

wTEES

Rh7K/¥w%2 /1.0
Waterproof packing

Dimension of mounting hole

- AEAEREE t5.5mm
Max applicable panel
thickness is t5.5mm

36



37

—EOvILBIBAK/N NIV

DOUBLE LOCK L-SHAPED WATERPROOF HANDLES

e
CAD

Bk

AB-901-1W

*—%% H200
Key No.

/// ~
,// /(
e
S

EE: 4 E60° ‘
(£F%) w (AR
Turn60° Turn60°

(open to left) (open to right)
(103.8)
(15.3)

ZEAR/ R

HANDLES FOR AIRTIGHTNESS

31

2>
A
Ol Py

w oM

Feature

O RiEEMESE Y BRICL O T _EICHESE TEET .
® BREIERERG LT HETY .
o ARG

® Can be double-locked by a padlock

® Natural rotation is prevented.

® For both left and right use (the left and
right can be changed by reversing the
stopper plate and adjustment washer.)

o
~

s

#  H eH$ &% (ZDC)
O IFLEF/IN—Y AT VLA (SUS304)
FELIE e /OLHOE
H & exa—E/VI -BER TR HHESE
fi % e*+—&S 'H200
Material ®Zinc alloy (ZDC)
® Bracket parts/Stainless steel (SUS304)
Finish eChrome plating
Specific Use @ Cubicles, distribution boards
Remarks @ Key No / H200
XAHGZOIEDHEBMFTARIIE . ABAHBHIED S [EABHLEH] ]
DRHEWRHLET
m & B E(g) A B B {f
Product No. Weight Lot Price
AB-901-1W 559 40 ¥3,500
FREEEES (12.0) 51 (Bh7k/ ¥y¥>)
Adjustment washer Waterproof packing
WEES(30) @ | 9D
Adjustment “\, % ZEPNN
washer 28 /@\
M6 14 251 H-200% % —
8Bas N
+vkM22 56 @ Key No.
N ‘o :
ut 03 MRt
w{TES / Dimension of mounting hole
B/ %2 (11.0) L e
Waterproof packing ‘ ; ‘ r\/@?’
L

aOI/OOA»

I
L

\ O

RAEAERENE 18.5mm
Max applicable panel
thickness is t8.5mm

@ @ ¢ 7 @ .
v l“ h
stock | rotis ) BA7K | cap

SAB-1001-2(L,R)

¥ A eRANBETEERY
(140) Feature © 25 L ABTHAMICT A TOET.
35 (109) e |t can be a powerful seal.
24 - e Stainless steel handle has excellent
£ 1 g corrosion-resistance.
[ . P D 7
o< LI N7 ‘/—\] M  E eAFULA(SUS316)
10 B3 FEOIE @ HE/\THE
2 e &* A E eSREE R
2-M4F M\ i i i % oRMHIAABIIRMZEIFERILZN
~
(34) [25T[ “AMABMR  yaicrial e Stainless steel (SUS316)
L 40 | ~ Finish eMirror finishing
Specific Use ® Refrigerator, Heating cabinet, Doors for
o (o) sealing
SAB-1001-2(R) S o ey i = - A S 3 S| Remarks ®Please check the actual product
9 ok 0 regarding tightening of it.
SRISEERT. . FEIEERT. . et e et
The picture shows the right type. The drawing shows the right type. SAB-1001-2(L) 260 ¥3.500
SAB-1001-2(R) 260 ¥3,500




LESNEINRIL

L-TYPE SMALL HANDLE

« e
CAD

ik

AB-802~804

@PAT.PEND.

| |
| r ”‘<

ECAE |

Feature

Y

e®design stucture of two-way (left and
right) to use concurrently

# B emiAa® (ZDC)

FMELIE e yOLH>E

H i e FiER - ER IR ZDh&EBOX

fis = ox—%S 'H200

OH500F X1 7 DF— UV E—6BIEATEHY

9. (BEOVEZITEHYVET,)

Material ®Zinc alloy (ZDC)

Finish eCr plating

Application ® switch box, section board, control box
and all kinds of other cotrol boxes

Remarks @ Key no / H200

@ Have cylinder of NO. 500 key type (have
different key type, too)

HKARGDIEDEBFT AR IS ARABFIED % [#EHBSIEH |

‘ / —%35 H200 :
| N R DBIEHEHRLET
'\ / AB-804-2
AB-802-1
8.3 N
(H1) 3 HEEZ£(11.0)
oW1 Ho ‘2 Adjustment washer
I _‘__\__ »»»»»» I 177 /7 1 il [E
[E#:/E90° [E$:/E£90° \o Fvh(M)
(£R8%) (#B8%) - Nut
Turn 90° Turn 90° - Ty
(open to left) (open to right) 0 Ring-type washer
N
(L2) 8 Y (Hs)
H H-200%&*%—
Key No.
:?:duct h%. 1ﬁl;temark"s:‘é’(- L (L2) ¢W1 W2 Ws (H1) Hz (HS) M E We}!;h(tg) ALot& ¥;7‘ri<:1eilﬁ
AB-802-1 BFE 170 60 ¥1,200
110 100.3 44 195 30 445 9 27 20
AB-802-2 sEL 188 60 ¥800
AB-803-1 BFE 134 60 ¥1,000
95 85.3 35 195 27 36.7 7.5 22.6 18
AB-803-2 BEL 137 60 ¥600
AB-804-2 i 2009 80 715 33 17 27 31 7 19 18 123 60 ¥430
WA WA T WELfF )T
Dimension of mounting hole Dimension of mounting hole Dimension of mounting hole
2-9p4
$3.5 ¢3.5

J@@ :

ZRIEER
Left-opening door

e

kREER
Left-opening door

HEEER
Right-opening door

RAEAERE. t1.6mm
Max applicable panel
thickness is t1.6mm

AB-802

Max applicable panel
thickness is t1.6mm

AB-803

0 4 22 J 22
f: ? if

HFZER
Right-opening door

=RAEAEREE. t1.6mm

ERIEER
Left-opening door

HRRZER
Right-opening door

RAEAREREE t1.6mm
Max applicable panel
thickness is t1.6mm

AB-804

38



FLAT HANDLES
AB-51~53:-AB-51R~53R

# A eELRAR (EANEE. EHEEERLTT
Feature  X(\,)

OMfFERZLY L THEUET DT, MUMIFEED

I TE/ N NIV (Frsa4)

BHTENTY,
ORAVDTHA &) Z2a—FI LT . K&
N PUSH®Ei{EEZEHEL .
! ] KATU Ty v —TRYDITBEELRRETT .
= ® For both left-hand and right-hand use.

(the left-hand or right-hand use can
be changed by reversing the cam and
stopper plate)

® Mounting bracket is set so that
installation is easy and convenient.

® The renewed design of the button, it is
. more enhanced operability of the button
PUSH.
%It is also possible to install by bowl washer.
# B eFiRAE (ZDC) @ AB-50RMDAKRLE8 Hilg
FENE e UFFAM/OLHOE
R & eFER-SER-HIHE-ZOMmMmEEBOX
i % eF—&FS 'H200
Material ®Zinc alloy (ZDC)
® The button part of AB-50R / resin
Finish eSatellite chrome plating
AB-51-1 Specific Use ® Electric distribution and control
panels, etc
Remarks @ Key No / H200
AB-52R-1
+—%% H200
Key No.
W%
Dimension of mounting hole
Wi (6) H1 t
<
1 Y
1] 1 J i
i __
‘ > I
T ) /,: Ws*;’ & 7 ‘
‘ // P B ‘
| P ( cll ¢D2
. H \
! Ro~ ‘ ‘ ‘ Li1of L11
s \ !
Al . N e Lytsl |
L/ U Stopper plate 18_ ‘
|
- i a 1 ‘
L/
\ T mtu N @ |
Installation plate == Q <~ \
3 o
(Ho) Y We
3 2
! We H200&E*—
Key No. -=AXEAERE/AB-51:12.8
/AB-52:53:12.0
T £ fis & BE(g) | A#| B ffi
;:Dducmo‘ R:marks L1|L2|L3|La|Ls|Ls|(L7)|Ls|Ls |Lto|Lt1|W1|W2|Ws|(Ws)|Ws|We| H1|Hz2|(H3)| t [¢D1|¢D2| R We|gr§) = B
AB-51-1 |AB-51R-1 | §2ft& 371 40 | ¥1,500
142149.5|655| 9.5 | 18 |34.5(255(106 (1005|117 | 128 (32.4| 26 | 22 | 17 | 5 | 27 | 17 |165| 58 | 32| 42| 42 | 45
AB-51-2 |AB-51R-2 | &L 363 | 40 |¥1,100
AB-52-1 |AB-52R-1 | & 230 | 56 |¥1,300
117|485(61.5| 85| 20 | 35 |205| 86 |81.5| 96 | 105| 30 | 23 | 20 | 10 24 1125| 12 | 52 |23 (32|32 | 4
AB-52-2 |AB-52R-2 | ##EL 227 | 56 | ¥1,050
AB-53-1 |AB-53R-1 | #ff% 171 80 | ¥1,050
84 1235|615/ 85|20 | 10 (205 53 (48563 | 72 | 28 | 23 |20 | 10 | 5 | 24 (125/ 12 | 26 |23 |32 | 4 | 4
AB-53-2 |AB-53R-2 | ##EL 163 | 80 | ¥900




FLAT HANDLE (BUTTON DOWNWARD)
AB-21~23

OPATIPEND. (R E &5 28 B M eELRMBE (EEOLER. EHREFELET)
Feature @ A% DI TAY—MaFH1>
o FHRER—HHE L THURSIEBDELL,

@ design structure of two-way (left and
right) to use concurrently (according to
the direction change,stopper plate and
adjusting washer can be turned).

@ With the fashionable arc design

o With the integrated design of handle,has
improved the security

#  H eEHAR(ZDC)

FREME oY FI/hyOLSDHOE

A & oEER HER ZTOMmEEBOX
i % eF—%S 'H200

Material @ Zinc alloy (ZDC)

Finish eSatellite chrome plating

Application ® Switch box, section board and all kinds
of other control boxes

Remarks @key no / H200

I TEINI R (FRa a1

AB-22-200

AB-23-200
*—&% 'H200
Key No.
Lo L3 .Hﬂf{ﬂj’ﬁ?}'&i .
Wi (3.8) Hi t L Dimension of mounting hole
LS LG ¢D1 q;Q~
‘ |
nmiy
m | G ‘
m L W3 (W4) !
N ok e el ul
i <1 Pt \ | |
| - | ¢D2 BRI |
i V\V i L7 i (—\\ ‘o // { L11| L12
‘ ! L N4 Lo|L1o
MU L+ I | N ‘
~ Il L A w 18 }
I ‘ ’ |
| (@) : |
Q& \JJ:E’):%: @ @ }
N i @ it i
! Il -
\ Ds We
3 o H4\ W H200%E*— _
H e BOAT Y+ z Key no BAHEARERE/AB-21:12.8
(Ho) = /AB-22:23:12.0

T = N BE() | A B ff
Remorks | L1 | L2 | Ls | La|Ls|Le|L7|(Ls)| Lo |Lto|Lt1|L12| W1 | W2 Ws (Wa) | W5 | We | H1 | H2 [(H3)| Ha | t [¢pD1|¢D2|¢D3| R Weigﬁt | et
AE ALA00) wti% 142 149.5|65.5 95| 18 |345/255| 1061005 117|128 | 32 | 26 | 22 | 17 | 5 | 27 | 17 |165|/ 568 | 5 |32 |42 |42 | 8 |45 822 | 40 |¥1,500
AB-21-2 | #EL S ’ T | ’ I | 827 | 40 |¥1,100
-22- it 193 | 56 |¥1,300
e 117 1485(61.5 85|20 | 35 |205| 86 |81.5| 96 |105| 28 | 23 | 20 | 10 24 1125|/ 12 |57 | 4 |23|32|32| 7 | 4
AB-22-2 L 190 | 56 |¥1,050
AB-23-200 | i2f+Z 143 | 80 |¥1,050
4 1.5]28. 5 | 2 10 |20. 48. 72 | 28 | 23 | 2 1 24 |125| 12 | 2 4 |2 2|1 4| 7| 4
AB-23:2 smL 8 615|235/ 85| 20 | 10 [20.5| 53 |485| 63 8123 (20|10 5 5 6 3|3 130 1 80 | %900

40



BHkAEI Oy /N RV

WATERPROOF LOCK HANDLES

LA ard
CAD

BhK

AB-81~83

" &

Feature

© D DREKEERE (F—) > T -Bhk/N\yFER) .
o EhFMARET (AB-83)

® Waterproof (using O-ring and sheet

packing)
® For both left-hand and right-hand use.

(AB-83)

# ¥ o HERAE (ZDC)

FELE e/OLHOE

2] i# OB F1—EVI-BRER - HER-HIHR - ZOME
#&BOX

fi = oN\VRILIFERAF+—/\RIL (AB-80-H) (BI5EY)
ZZERALIEZL,

Material ®Zinc alloy (ZDC)

Finish eChrome plating

Standard Colr ® Qutdoor cubicles, electric distribution
and control panels, etc

Remarks @ Key AB-80-H is sold separately.

AB-83 o & B =(g) A ¥ B i
Product No. Weight Lot Price
AB-81-L 320 60 ¥1,350
AB-81-R 320 60 ¥1,350
AB-83 122 210 ¥680
AB-81 'R(?EF;ﬁ%)Open to right
AB'81 'L(Z\_:Bﬁi) Open to left 18 222 6
RS (13) 659
Adjustment washer
MEXT4 ppakssys
Waterproof
packing
WA % AL
Dimension of mounting hole EEs A EeS| s EeSe = Nut
(£B%) L (HBI) [ H s
Turné5 Turné5 , V=TT
(open to left) (open to right) — | Ring washer
AB-81-L AB-81-R 3 /' /,

o R XEAEMREIE. t9mm
Max applicable panel thickness is t9mm

| AB-83
32
W N~T i [Bl# A E90° Bl#EAZ90°
Dimension of mounting hole  (ZRI%) (ARZ)
Turn90’ Turn90’

(open to left)

o S XEAREREIX. t9mm
Max applicable panel thickness is t9mm

41

(open to right)

K/ Sy%> /1.0
Waterproof packing

1 L — /\>KJL AB-80-H
,/ ,L/ Handle

14195 25 =mspmE4 (11)

Adjustment washer
M6 x 14 Uik AVE SN

(149)

(63)

Waterproof
packing
H.LAR Cam plate

F vk (M22)

Nut

YT Tyw

Ring washer
ZR—H—(11.6)
Spacer

BhoK/¥yx> /1.0
Waterproof packing

| ——— /\>RJL AB-80-H
Handle




AT L ABBKAEROY 7\ RV

STAINLESS WATERPROOF LOCK HANDLES

BO# eRDDFHIKEE (F—U T Bk EER) .
Feature o K43 FAERE

® Waterproof (using O-ring and sheet
packing)
® For both left-hand and right-hand use.

#  H eRAFULA(SUS304)

FELE oK HINT

A & eEBAF1—-EVI-BRER HER-FHR TOME
fEBOX

i % eNVNILZERF—/\VRIL(AB-80-H) (5lI5EY)
EERALSESL,

Material @ Stainless steel cast (SUS304)

Finish eMain body / Cutting

Specific Use ® OQutdoor cubicles, electric distribution
and control panels, etc

Remarks @ Key AB-80-H is sold separately.

SAB-83
SAB-81 ERE B E(@) A B B
Product No. Weight Lot Price
SAB-81 300 60 ¥4,700
SAB-83 144 210 ¥4,000
175215 6 ~#.L#R Cam plate
I1SAB-81 ¢50 - BEES (13) ¢51
; qimli Adjustment washer
M6 x 12
R JACES 1<
Fuh(M22) Waterprooj _A @ N <>,\0
e e ?f’/ Nut packing =z
Dimension of mounting hole o %A 2
@iﬂﬁf“go El#xAE90° /J :
5ot (£max%) \_)L/ (ERIX) N Ring washer (40)
$8.5 . . s .
—r2 Turn90 Turn90° o D BEK/SvE> /1.5
o /| (open to left) (opentoright) —| | ,/ Waterproof packing
=) K
|l
o [
[ 1R AB-8OH
o S AEARREIR. 17.5mm / / Handle
Max applicable panel thickness H
is t7.5mm 68)
I SAB-83
WA $32 17 185 3.3 FHEES(11)
Dimension of mounting hole Adjustment washer
18.3 /i\ M6 x 12 BHAK ISy %>
/D q_ Water_proof 7
, \ W N_ #4145 (t2) Cam plate packing ?
S &5 E90° El#xfEE90° Foh(M22) Nut
% ERH | RS TUhM22) N
o B EFRREL. 111 5mm Turn90° Tum90°® )27+ Ring washer
Max applicable panel thickness (open to left) (open to right) [ CASIE P § )
is t11.5mm Waterproof packing
~ >
F—/\VRIL
KEY HANDLE
38 (57) ¥ H ek (3K -#F5F (ABSHIEE)
33 3 FMELIE @ yO L&
\\7 | Material ®Main body (SS)-Handle (ABS)
M Finish eChrome plating
!
‘ @m & B E(g A B i ]
g Product No. Weight Lot Price
AB-80-H ‘ - AB-80-H 140 40 ¥420
|
¢5ﬁ\4¥
T



NI N RIL

LOCK HANDLES

AB-75-1-SAB-75-1 (SUS)

¥ A ekLFANE
Feature ® For both left-hand and right-hand use.

# # e AB-75-1/##p&E% (ZDC)
®SAB-75-1/A7 LA (SUS304)
FELIE @ AB-75-1/70L%Ho%
® SAB-75-1/Z: 44T
] i oFiER TR FIEE-ZDh&EBOX
fii & eNVRIEEERF—/\VKIL(No.075-1.No.
075-2) (AlI5EY) 2 ZERALEEL.
Material @ AB-75-1/Zinc alloy(ZDC)
® SAB-75-1/Cast stainless steel(SUS304)
Finish @ AB-75-1/Chrome plating

AB-75-1 ® SAB-75-1/Cover:Cutting
e SAB-75-1 Specific Use @ Electric distribution and control panels, etc
Remarks @ Key handle (No.075-1, No.075-2) is sold
separately.
(H1) (He)

= (BAiRRE) =
Cover (open) /\) Ha |12 =2

r

\

5
(M22)4

(56)

E$:58 00" (B9 %) E$/8 00" (5BI%) i N m
Turn90° (open to left) Turn60° (open to right) ‘\ \ F*—No. 075-1
. Key No. =
\ \ / (H1) (H2) | H3 | BE(®) | Af | H i

\ O Weight Lot Price
v\ AB-75-1 | 49 | 26 | 6 | 646 | 64 | ¥400
SAB-75-1 | 484 | 24 | 63 | 754 | 76 | ¥2,350

HEOY 7N\ RIL

LOCK HANDLES WITH SEALING
AB-75-3

B M eHHTAEASLRET.
Feature @ jr#53kAIRLE

® Can be sealed.
e For both left and right use.

# ¥ e HiAA® (ZDC)

FELE ey LHHE

] i# e ELEMR-ER-HHE-Z0mh&EBOX

o\ RIVIFER+—/\KIL(No.075-1,075-2)

(BIFEY) ZZERLEELY,

Material ®Zinc alloy (ZDC)

Finish ®Aventurine chrome plating

Specific Use @ Power/distribution boards, control
boards, various boxes

Remarks ®Please use the exclusive key handles
(No.075-1, 075-2) which is optional

W{ERBI Example of application

)

] extras.
T - 2 & EEe | A®R | B @
Product No. Weight Lot Price
AB-75-3 64.6 68 ¥700
¢30 e 19 WA
= (k) Dimension of mounting hole
; Cover (open)
Py / 19.5
— QD) | =
,’@wguﬂm 7 = AB-75-3 i
OEAEo0° (£FE) | EEAE0° (ARE) ~| @ |
Turn90° Turn90° 8 0
(open to left) (open to right) o . —
\ o R AEAFEIREL. t1.8mm
_— *—No. 075-1 Max applicable panel
O Key No. thickness is t1.8mm




B5KOY 7\ RIL

WATERPROOF LOCK HANDLES
AB-76-3

W OB emIEROHKRELNFETT,
Feature @ RBEENDIMAEZICKY. ILHEFTOHERZER
BTEEY,
® B/KFRIRIPX G

®|t can be inserted and removed when
locking

o |t is possible to adjust the distance to
the stopper plate by recombination
adjustment washer.

e®Corresponds to the waterproofing
standards IPX6.

# ¥ oA/ ® (ZDC)

FENIE e YFSAN/OLDHOZ-VOLDO>ED2TE

] & e /NEUHIfEAR - K IEIRENESR

fis =z offEMLHE

Material ®Zinc alloy (ZDC)

Finish eSatellite chrome plating, Chrome plating

Specific Use ® Compact control panel, Various vibration
equipment

Remarks @ Accessories: Stopper plate

AB-76-3-2

AR & fie & B H(g) - ]

Product No. Remarks Weight Price

AB-76-3-1 J0LHoE 82 ¥700

RIEDEOBEEI—T I SRYET. AB-76-3-2 | 731 /h/OL®H>E 82 ¥700
BEES OB AT BAENSEHEETD 26 $285

BN FHERRETT,
Can be adjusted to the position of the

stopper plate from the mounting { VTS
surface regarding assembly method of the B FHFRT A

adjustment washer.

%71 ézém ERFEAREIL. t1 ~t6mm
®17.4mm
¢35 17.4 . BIER G ERD ANy /=
(M28) SAEED 1.6 25.5  Positioning of the turning
2%
M6x10

®
k% C-48(12.3) : e
MEES 16(2K) LS WEELUEET | o
ZEICKNERFEAT

— _
&R/ E90°
wng angle 90°

BA7K/ Y% (10.8) {BETTEE,
%—No. 075-1-075-2 The stopper plate and adjustment washer are
(GED)) available in left or right use by turning it over.

(Option)

F—/\VRIL

KEY HANDLES

No.075

#  H e@$ /% (ZDC)
FmELiE eNo.075-1 //0L%HoE
®No0.075-2 /Y FZ/hyOLHoE

Material ®Zinc alloy (ZDC)
(53) No.075-1  Finish ®No.075-1 / Chrome plating
®No0.075-2 / Satellite chrome plating

©

—_

Al

E

(85)

(56)

¢5

m & B (g A ¥ -]

Product No. Weight Lot Price

No.075-1 76 ¥170

No. 075-1 No.075-2 30 ¥220

44



AR TGNRIV G
ROUND-SHAPED RING HANDLES

AB-91-1~2

B # e/ \UNLOBRHRORBRERETT.
Feature e 7733k FsRAT
o EEMEOLEIL/\FNNYMNEESE) OBET
ZEL TS,

®This product has a retaining function
® when opening and closing.
L ® For both left-hand and right-hand use.
® Please change the direction of the panel
cut(Drawing reference) for changing left
and right hand use.

B eEHAR(ZDC)
TENLIE 0 /OLDHOE

AB-91-1 o et B # eREMRHESR AROES
INFRIV T —
Pazn}el /gr?ﬁf:g_r dfnensions ] z oF— "HROMHF—
& Material ®Zinc alloy (ZDC)
%/ > 17 Finish @Chrome plating
Q Specific Use @ Distribution boards, inspection doors etc.

2,
= " \q‘é& Remarks @ Key / Simple fork-shaped key
4‘ ° 4‘ HIEDRISFIEERD <L E .
&

*Please place an order the stopper plate

ISIVHybSTE ISRIVHyhTiE separately.
(EBF) (EBF)
7.5 »
N
1.2 3
o

T
M8|
M18

m B fie & B E(R® A % X
Product No. Remarks Weight Lot Price

AB-91-1 | /OLsHo%/@f4E| 121.4 20 ¥1,000
AB-91-2 | yOL®)->%/@%0 | 1026 25 ¥750

26.5 23.5

AHVBRINRNIV Q2

ANCHOR-SHAPED HANDLES

AB-60-1~3

# B eEERANTY.
Feature @ Both left and right use

# M oHiAAR

FELIE e /OLHOE

] & @ /NEUE-HI{EAR - SHRIHRBR D /NEE

fiw Z oHRAICDEEMHHOEICTIHER T,

Material ®Zinc alloy(ZDC)

Finish eChrome plating

Specific Use ® Small equipments, Consoles, Measuring
instruments

Remarks ®Please confirm it to actual products
about market products.

AB-60-1

&8 L2 L+

INFIVRBAVTE
S}O{Jper tlalL v Panel drilling dimensions
ate 4|Ls
e $17.2 $17.2 N
w
3
T = 4 ’ ’*’/T w -
a . EOEDEZE AEEDHE
AEEA90 While turn left While turn right
! Turn90°
|._—(open to right)
|
s BE(g) | B ffi
Sk S W1 w2|L1|L2|L3|L4| t Hi H2| M| N Weight Price
AB-60-1 | 39| 8 |31 |18 | 7 9 |25/34 |13 | 2 |22 74 ¥620
AB-60-2 | 33| 7 |30 |16 | 7 | 7 | 2 |34 |15| 2 |22 62 ¥550
AB-60-3 |28 | 5 |21 |16 |45| 7 | 2 | 23 |105|25|27 42 ¥440

45



27V gavy

SPRING FASTENERS

AC-88

WO e NXIICERAETh.RELIITTY,

Feature

® |t can be used on a panel, type without
a key.
# Y eHiASSE
RENIE @ BERK
Material ®Zinc alloy(ZDC)
Finish eBlack plating

m & B H(g A B i}
Product No. Weight Lot Price
AC-88 53 ¥210

INRIVRERG A
Panel drilling dimensions

BEREAZ 1ROy

RESINOUS SLIDE-LOCK

ACP-100-AN(L,R)

B # e DFEAIMAEMITZIEICL>TIEDHEDS AT NUMKESE
Feature [ %7
0 F /=, DEAIPER T IETHAMMBEDHZAET .
. o St late is slide-locked by t i
W i | thg[iggb? ate is slide-locked by turning
Dimension of mounting hole ® And stopper plate is moved 4mm by
putting down the knob.

# H e&X{k-L/N— KRUF7IN(PAB)
o ElixEh, R 7 & —IL (POM)
] i# o FEM - ER- il 7 Dh&EBOX
fii % o HMZA (R) EXMZA (L) PHYET DT IR
ICTHELSEEWL
Material @ Main body-Lever/Polyamide 6 (PAB)
® Rotating shaft/Polyacetal (POM)
EARREL. t1.0~6.0mm Specific Use OPower/distljibution boards, control
Panel thickness applicable to install boards, various boxes
Remarks ®Please specify the left or right use
when ordering.

180°TURN & B 2(g) A ¥ - ]
Product No. Weight Lot Price
ACP-100-AN (L) 22 ¥430
ACP-100-AN(R) 22 ¥430
1) N ~
©
oe) v N
g e ‘ =
L i
X
o STROKE (8)
o
» 21 J L 7.8

46



47

N FIBRINNBERE—ER

1

P.6 AB-154-1-1/2

P.10 | AB-254-1-1/2

P.6 AB-154-2-1/2

P.10 | AB-254-2-1/2

P.6 AB-154-1S

P.10 | AB-254-1S

o | |
|
AB-151-2-1 AB-251-1-1
a0 P6 |AB-151-1-1/2 | P.10 |AB-251-1-1/2
P6 |AB-151-2-1/2 | P.10 |AB-251-2-1/2
P6 |AB-151-1S
!
AB-152-2-1 AB-152-1-1S AB-152-1W AB-102-1-1 AB-252-2-1
P6 |AB-152-1-1/2 P6 |AB-152-1-1S P25 [AB-152-1-1W P8 [AB-102-1-1/2 | P.10 |AB-252-1-1/2
N P6 |AB-152-2-1/2 P6 |AB-152-2-1S P25 |AB-152-2-1W P8 |AB-102-2-1/2 | P.10 |AB-252-2-1/2
i i P.7 |SAB-152-1 P.8 |SAB-102
|
30 l
ABP-252-1 AB-252-2-1W
P.11 |ABP-252-1 P26 |[AB-252-1-1W
P26 |AB-252-2-1W
(2]
o
o] u
AB-153-1-1 AB-153-2-1S AB-153-2-1W SAB-103 AB-253-1-1
27 P6 |AB-153-1-1/2 P6 |AB-153-1-1S P25 [AB-153-1-1W P8 [AB-103-1-1/2 | P.10 |AB-253-1-1/2
P6 |AB-153-2-1/2 P6 |AB-153-2-1S P25 |AB-153-2-1W P8 |AB-103-2-1/2 | P.10 |AB-253-2-1/2
P.7 |sAB-153-1 P.8 |SAB-103 P.10 |AB-253-1S
\
o !
@ \
25 AB-154-1-1S AB-254-1-2




1

| ABS-451-1 SAB-401R-1 AB-301-1 AB-331-1 AB-431R-1S
P.16 | AB-451-1/2 P.15 | SAB-401R-1 P.18 | AB-301-1/2 P.22 | AB-331-1 P.27 | AB-431R-1S
~ P.16 | ABS-451-1/2
- |
\ -— .
I il
27 '1 ﬂ
AB-401A-1W SAB-401-1 AB-401-1B AB-461-1
P.23 | AB-401A-1/2 P.14 | AB-401-1/2 P.14 | AB-401-1B P.2 AB-461-1/2
P.24 | AB-401A-1W P.14 | SAB-401-1 P.2 AB-460-1/2
P.14 | AB-2401-1/2
— |
- -
[E
AB-262-1 AB-452-2 SAB-402R-1 AB-302-2 AB-332-1
© i P.12 | AB-262-1 P.16 | AB-452-1/2 P.15 | SAB-402R-1 P.18 | AB-302-1/2 P.22 | AB-332-1
() i P.16 | ABS-452-1/2
24
AB-432R-1S AB-402A-1W AB-402-1 AB-402-1B AB-462-1
P.27 | AB-432R-1S P.23 | AB-402A-1/2 P.14 | AB-402-1/2 P.14 | AB-402-1B P.2 AB-462-1/2
P.24 | AB-402A-1W P.14 | SAB-402-1/2
P.14 | AB-2402-1/2
1 j R— et
o \ ) \ o=
© |
i !
i )
AB-453F-1 AB-453-1 SAB-403R-1 AB-303-2 AB-433R-1S
24 P.26 | AB-453F-1 P.16 | AB-453-1/2 P.15 | SAB-403R-1 P.18 | AB-303-1/2 P.27 | AB-433R-1S

P.16 | ABS-453-1/2

48



49

N FIBRINNBERE—ER

24 AB-403A-2 AB-403-2 AB-2403-1 AB-463-1
P.23 | AB-403A-1/2 P.14 | AB-403-1/2 P.14 | AB-2403-1/2 P.2 AB-463-1/2
P.14 | AB-403-1B
P.14 | SAB-403-1
)
<
q/‘k*
51 ]
|
|
N~ |0
=8
|
|
AB-351-1 AB-51-1 AB-21-200
P.20 | AB-351-1/2 P.39 |AB-51-1/2 P.40 |AB-21-200/2
_|\J P.39 |AB-51R-1/2
27
1)
g
|
| 88
|
1 AB-352-1 AB-52R-1 AB-22-200
P.20 | AB-352-1/2 P.39 |AB-52-1/2 P.40 | AB-22-200/2
o4 P.39 |AB-52R-1/2
>
&
£
}
|| Qg
|
|
\\J
AB-333-1 AB-353-1 AB-53R-2 AB-23-200
24 P.22 | AB-333-1 P.20 | AB-353-1/2 P.39 |AB-53-1/2 P.40 | AB-23-200/2
P.39 | AB-53R-1/2




T"’

s AB-901-1 ABV-901-1 AB-901R-1/2 AB-901-1W AB-701-1
Egl P.30 | AB-901-1/2 P.32 | AB(V-G:M)-901-1/2 P.4 AB-901R-1/2 P.37 | AB-901-1W P.34 | AB-701-1/2
Q’Zfb P.30 | SAB-901-1/2 P.32 | ABS-901-1/2 P.34 | SAB-701-1/2
o [ .~ P.36 | AB(V-G:M)-701-1/2
<
O
SAB-81
P.41 | AB-81-R/L
P.42 | SAB-81
AB-902-1 ABG-902-1 AB-702-1 AB-902R-1
P.30 | AB-902-1/2 P.32 | AB(V:G:M)-902-1/2 | P.34 | AB-702-1/2 P.4 AB-902R-1/2
P.30 | SAB-902-1/2 P.32 | ABS-902-1/2 P.34 | SAB-702-1/2
P.36 | AB(V-G:M)-702-1/2
N %
™
ABS-903-1 ABM-903-1 AB-703-1 AB-903R-1
P.30 | AB-903-1/2 P.32 | AB(V-G-M)-903-1/2 P.34 | AB-703-1/2 P.4 AB-903R-1/2
P.30 | SAB-903-1/2 P.32 | ABS-903-1/2 P.34 | SAB-703-1/2
P.36 | AB(V-G:M)-703-1/2

»

AB-75-1 ACP-100-AN
P.43 | AB-75-1 P.46 | ACP-100-AN-L/R
P.43 | SAB-75-1
P.43 | AB-75-3

50



51

N> BRI BoBEHD—BR

H200() AB-150/SAB-150 BAKEEZA T NIV P5~7

AB-150-1W ZEOyYRAKFEAL T NARIV P25

AB-100/SAB-100 BEAKFEAA T NIV P8

AB-250 BHKFEAA T INARIL P9

ABP-252-1 AR ERAKFEmR 1T NNV P11
AB-252-1W ZEOYYBAKFEAA T NARIV P26

AB-330 BHKSFERA TNV P21

AB-461 BAZKFEEAA T INARIV P1

AB-900R LEYRHIK/NRIL P3
ABP-900(V-G-M) LAY /R P28
AB-900/SAB-900 LEIBHZKNRIL P29

AB(S-V-G-M)-900 LEIRHIK NIV (il 2 4E) P31
AB-901-1W ZEOyILEBEKANCRIL P37
AB-700/SAB-700 LEYRHIK/NRIV P33
AB(V-G:M)-700 LEYRHAKNARIL (ot 2E) P35
AB-800 LB/ NN R P38
H200 (/) AB-262-1 BAAKSFEEAA T INARIV (A D — 25 ) P12
AB-453F-1 HEMBERFRERA T /NI P26
AB-450/ABS-450 BHKSFE R TNV P16

AB-460/462/463 BRE7KFEREAA T INRIL P1
SAB-400R 2T UL RBAKFEZA T NIV P15
AB-300 BHACGER SRR A>T NRIL P17
AB-350 BHKSFERA TNV P19
AB-400A BEKFEEAA T INRIL p23
AB-400A-1W ZEOYIBKFRRALT NRIL P24
AB-400/SAB-400 BEAGERISEE R A>T N RV P13
AB-2400 BHACERISFEm XA T NIV P13
AB-50/AB-50R NIV (TREZL21T) P39
AB-20 FENARIV(TRZZALT) P40
H500 AB-900 LEYRHIK/NRIV P29
AB-900R LEIBEZK /N R IV P3

AB(S-V-G-M)-900 LEYRHAKNR I (BT 2 2E) P31
AB-901-1W ZEOyTLERRKARIL P37
'ﬁl AB-700 LEYRHIK /N RV P33
AB(V-G-M)-700 LEYRHAKNR I (At 4E) P35

SC2000 AB-152-1S~154-1S BEKEE XA 5 VRV (SC-200031—X) P5
AB-100-1S Bh/KFEEZA >4 1\ RIL(SC-200031)—X) P8

AB-253-1S~254-1S Bh7KEE XA >4 /N RIL(SC-200031)—X) P9
AB-430R-1S BE7KEE XA 5 /N RIL(SC-200031—X) p27
NO.075-1 NO.075-2 AB-75-1/SAB-75-1 INEIE Y R P43
AB-76-3 BEAKEy 7 INRIV P44
AB-75-3 HEMFEOYI NIV P43

H9001
if" ‘J ABP-900(V-G-M) LAY RS/ N RIL P28
AB-80-H AB-81/AB-83 BEAKALEID Y 7\ KL P41
S~
v

SAB-81/SAB-83 BAAKAEOY T NARIL P42




tXa2l)7+1%— SC-2000 / H500 HEN

SC2000

200 BF—IcBbHEF1UF1F—

L

__"I!"T?‘glllln

tF¥aV7rmEE!

EREOBN200FF—I1H 1) . SC2000 &+ —
TEETZEICKY., EF2UFTrALZRZED
FIRETCY . MICHBI 2M—F—Z2HALTHUF
BREEED)EEA,

%/, SC2000 HFF—ZEETEBH/N\VNLHE
BICBURATOET,

EY &5

B2 75— BEOR. BOKE
EZLPBRDOLDPTT,

REELD
AL—X

DIN—=2TIF—

FHEES v v R —{FEDU/N—2
TIF—TT,

Yy a—{FET
EPRH
AWz

200 &% — SC2000 %% —
? FEBRD 1.' ReE ?
faltEE Y x UPHl
H500

200FF—ICEDLBZEX2UT 1+ — (LENVNIER)

FE

tF¥a1Ur71mL!

BEAEROFL 200 HF I H500 %4’——'6%
BY2FICLY, tFa2UTrmEZRZEDFIHE
¥ BICHBI HH—F— &&mw:&u*u&mz
DYEREA, &/zw HE00 BEF—ERETEH/N\UK
IWHEEICRYHATONET.

200 E+ — H500 & —
~

NIEBEED R

f"lfﬁﬁﬁ 1 U PNl

7w a UTHERIEE !

H500 ZFH+—I|dfede DR, F+—%4#
LaDS5ETHHEAZRB. €D/
. TERENOR2EZGH/IM
HAEBRDTVET,

= E%Lﬂt Wbtﬁrbﬁlj—

(ae

UN—=2T0F—!

e vv a—{EDU/N—
2TNF—TT,

SwyB—HET
EPRAANICCL

8

E55TH
HaFERIRE

52



53

4> avy

COIN LOCKS

#  H efkHIERAE(C3604BD)
FENIE @ yOLDHOE
i % 02HFIREDEDEHYIET,

Material ®Brass bar (C3604BD)
Finish eChrome plating

""’\ Remarks @ Cam lock which key can be removed in
; ..-k two direction is also available.
R 5.4-84
R 195
~ el
2 ’
16
INFIVRBRAG ST
Panel drilling dimensions
©
N _ Ml o
2 @/ 2
36 P & 2 | A ® ¥ @
Product No. Weight Lot Price
AC-110 67 ¥750
"
v I Nu %
CAM LOCKS
¥ O# eIUNIMMUNEID YV A —ET. &TE/NRIERICHE
Feature [ CTWL\XT,
o (%, 120°ElEL T, MESERFDAREL TEEY,
j/\ O tHEEERUICTDE LEA T THERATEEY.
k‘ e |t's fitness to compact cylinder lock to
all kinds of mini instruments.
) o Key can be inserted(or removed) by
' 120° turning.
o . e |f turn over stopper plate, usable for
L L type.
# H e mIF M F v AL
FELIE e /O0LHOE
H i# OLIAR—lr— A BRER- AF—IRELIAEZ—
OyA—ILN—&2—3% fth
A fii = 02DFHRZIZHEE A,
. ‘ Material ®Zinc die casting
&o Finish eChrome plating

Specific Use ® Register cases, distribution boards,
steel furnitures, cash resgisters,
elevators, etc.

Remarks @ Key cannot be removed in two directions.

|

M [ R
_ 3M18><0.75 B i

(16.7)

=

\
¢20

s : :‘Ed 'i% Ewih(g) J\L w % il
= o roduct No. eight ot rice
Addatiogie AC-141R 38 ¥640
11.2] | t2

Panel drilling dimensions
AC-141L 38 ¥640




Z)N\BpAOvy

MINI COIN LOCKS

SENISTOCK A RoHS EIEII'-I

AC-140-1~2
(8

L1 L2

1 b-

¢15

M12X0.75

30

NBpOvy

COIN LOCKS

10.5

ECAE |

Feature

o8B /NI NERE

1. ERON\RAOYS %, ZEYNELAOY I T,
2.2DFHREDEDEHVET .

3. EHEHHVEEE B D ETEETT .

4. 1EHEZEANDABIETHEAEMEDPAONET,

® Extra compact design

1 Compact coin lock which miniaturized a
former one with two times.

2 Cam lock which key can be removed in
two direction is also available.

3 It's possible to install with installed
stopper plate.

4 1t can be changed turning direction by
other stopper plate.

# H
RMLE

® #H (C3604)
o /O L&

Material
Finish

®Brass (C3604)
® Chrome plating

INFIVRBAG T
Panel drilling dimensions

& B H(g) L1 Lo -]

Product No. Weight Price
AC-140-1 27 4 10.4 ¥760
AC-140-2 27 2 124 ¥800

SEMISTOCK A RoHS ﬁlﬁl

AC-175-SS-1

16
INRIVRBETE
Panel drilling dimensions

ECAE |

Feature

O HEHBOFAICKY . LXTRIFELET.

O 7TAREVIZKY)  FEVWHEEICHNET,

O FEEAICERDF—I—FEERL. it ER
LEWHARZ LY —ERZRALTEVET.

0 27 FREEHIET

®|t's strong with a cylindrical key, and
long usable key

o No. of Key differences is various by
seven keys.

® Exclusive key code by customer is
registered as customer service to
ensure no duplication.

®Cam lock which key can be removed in
two direction is also available.

" H
RAWIE
A &

i %

® Hf
e /O L&
® BENRTEH - IEE- Hui- OAREES /RIS 25

i, it
O ILHRIFRIFTIICHEVET  STN—JICHBBLTH
VEJTOTEBRIEDHEEHRUEZL,

Material
Finish
Specific Use

®Brass (C3604)

® Chrome plating

®Vending machines, exchange machines,
ticket machines, OA instruments, Small
instruments, multipurpose use etc.

Remarks ® The stopper plate is an optional extra.
Please specify the stopper plate placed
on a catalog, 57 page according to your
application.

m & B E(g) A B B ffi
Product No. Weight Lot Price
AC-175-SS-1 61 ¥760

54



55

A—/N\—H LYY 4|08

SUPER CAM LOCKS

AC-142

¥ O® e8I /\UbEERE

Feature 1 F—(IELVPFTLIUN=2TIEALT,
2. EHRZEANDABIETHEFAZPAONET .
3. IEHEDPHVEEE BRfIDFIEETY .

® Extra compact design
‘ 1. Key is the reversible type that it is

easy to use.
2. It can be changed turning direction by
other stopper plate.
\1' (4 3. It's possible to install with installed
. i stopper plate.
> L # 9 e (C3604)
FELE e /OLHOE

Material ®Brass (C3604)
Finish eChrome plating

0
25 11.2; 2 ’5 $18.1
X
~

o a

o)

-

M18x0.8 ‘ ‘ INFIVREII T
19.7 3. Panel drilling dimensions
m & B =(g) A B B
Product No. Weight Lot Price
AC-142 51 ¥1,000
~ RiRL
AN Y
aq>avy o
COIN LOCKS
¥ O e lL»EHHEERE BIHHEHETT.
! Feature @)y 7 &4 7 THEIZRIMIISIhET.
O A EIFHIO DA TTY
o IEHEDEfHE. AZA TEBRA T D2FEEH SR
NEY,

stoppre plate.
o Clip for easy installation.
® Turning angle is only 90°.
® Please choose set of a stpper plate
r,qi' ? from 2 kinds, the A type and the B type.
4

f// e |t's possible to install with installed

# H e Xk Eiad® (ZDC)
FRMELIE KK /OLHOE
fii = 02DFHREN TEEY,
12 Material @ Main body/Brass
| Finish ®Main body/Chrome plating
Remarks @ Key can be removed in two direction.

~ 14.2
© of
a ,\
S
ISRIVREG T
WE2ERAI5 e .
Example of installing reference Panel d””mg dimensions
T B
o :lgxduct E. mﬁﬁ,ﬁ Rg.:a%;(s V\Eight ALﬁ% I%l&i;
= -1- 0.7~1.2
- - ACiSoR1Z] 2025 2 |/ vaoo
. . 157
Q AC-150B-1-1 | 07~12 |~ "%7
= 25 ¥500
AC-150B-1-2 | 20~25
= -2- 0.7~1.2
ACiSoRzz] 2025 2 |/ vsoo
————— 24 iRl
AC-150B-2-1 | 07~12 | 2 "7
25 ¥500
AC-150B-2-2 | 2.0~25




INEICY O [8

SMALL-TYPE LOCKS

¥ O® e8I /NUNERET.
Feature @ F—I[I{ELVRT U\ UN—TIEAFITE>TUOE
ER
o ItHEEANDPABIETHEFMEZPAONET .

i ® Ultra compact design
4 ®The key is reversible type and easy to

- use.
"'. ®|t can be changed turning direction by

other stopper plate.
# ¥ oA (C3604)

REIE e /OLDHOE
A & e/hEIfa-BiRiRA - HRRE

1.6 Material ®Brass bar (C3604)
~ Finish @Chrome plating
10 SpecificUse ®Small sized equipment, Terminal
0 5 equipment, Identification equipment
3 i
- I e < © $14.2
ol @ ‘
(]I o o e S
Mo 25 10.5.0.1 INTIVREEG A
o T Panel drilling dimensions
=S Fvb(M14)
m & B (g Bl
l 8 Product No. Weight Price
AC-155 18 ¥1,200

mE S ulVy) N,

COIN LOCKS

AC-160

B O® evya—EENELE.BEXATTY,
Feature @ F—(iR{EMEICBN/ZUN—2TIV(EEEA1T).
OHIEED AT UL AAN—IC LY TREMESBRTLY
%7,

eDust-proof type with a shutter
mechanism.

®Reversible key with excellent
operability (Double-sided type)

®Excellent corrosion resistance by a
stainless steel cover on the front.

# B eX{k/WAEE (ZDC)
vy /vy A—E8 AT LA (SUS304)
FMELIE e AK{K yOLHoE

Material @ Main body / Zinc alloy (ZDC)
® Cap-Shutter / Stainless steel (SUS304)
Finish eMain body / Chrome plating

A 75 174 126 5.4
N 7N
| 7
i R ARE
i o @ || M4 P=07 s .
: 2 i INZIVRER W STE
& (l ~ Panel drilling dimensions
-2 - oI
- =
g ALs [lea

m & B E(g) ]
Product No. Weight Price
AC-160 53 ¥1,100

56



57

a1 >avy

AC-175-ML

SEMISTOCK A RoHS ﬁlﬁ!

(45)

\_M19X1.0

M7X%0.75

INRIVARBRGTiE

Panel drilling dimensions

OvJRIEDHE

STOPPER PLATE FOR LOCKING

C-BO1~05

17

w oM

0 BITENRVMDUELBEICKETT .

Feature

®|t's suitable for long inner size.

" H
RALIE
R &

s &

® %[ (C3604)

e /O Lko%

o HERFTEM -mEM- OOy h—RER- X—I
Ry A -HEER- 75— LT — > REE - BREE-
AREF-ILN—2—Z

02, FRZLHVET . (OO DH)

O FE S DHZAIEF— DA Z ZIEREZLN,

o EEENDIBAIFLEDHEZEERLICLTTELY,

O IEHRIIFIFTIICHRYET . STX—=JICIBELTH
YETOT.BALDEZEBVEZL,

Material
Finish
Specific Use

Remarks

®Brass (C3604)

® Chrome plating

® Vending machines, exchange machines,
coin lockers, distribution boards, mail
boxes, control panels, game machines,
storage boxes, alarm devices, public
telephones, elevators, etc.

@ Cam lock which key can be removed in
two direction is also available. (90° right
turning only)

® The case that is the same No., please
specify the quantity of a key.

® The case that is the left turning,
please turn over stopper plate.

® The stopper plate is an optional
extra. Please specify the stopper plate
placed on a catalog, 57 page according
to your application.

& B Z(g) A % B

Product No. Weight Lot Price

AC-175-ML 97 ¥1,050

SEMI STOCK A RoHS Elﬁ!

C-B01~05

&

Product No.

C-BO1

# B eSS
FENLE @ =fliyOX—rhHoZ
fii % ed/OvJIZEALTTIXLY.

Material
Finish
Remarks

® Rolled steel (SS)
® Trivalent chromate plating
® Please apply to the coin locks.

fis &

Remarks

L1

L2

La

W+

oD| t | B E® | A & | Hm

Weight Lot Price

M7H

42

26

95

19

55

71126 13 ¥50

C-B02

M10MA

44

9.5

25

105

21

6.9

97 | 32 15 ¥75

C-B05

M7HR

42

26

95

19

55

71 | 32 15 ¥65




2VOy Yy

2V LOCKS
AC-193

W OW1.ReNEEALL.SHFMI12KEY, (RRK1445E
=— Feature /)
; 2.V AVERICEBEEREE,
B F—FHERTOUN=2TNEAT
4. XAZ—F—HPRETEEY . (RAF# 4007%)

Three direction of twelve pins which
regarded safety as important (Max:14
pins)

A difference of various keys by computer
management

Key is the reversible type that it is easy
to use.

Master key can be manufactured.

(Max child keys:400 kinds)

¥ eXK{k#iH(C3604)

79 17.4

T}
03 REWIE oKtk JOLHOE
| X )::] i# e BENARTEE- ST - - 2B, ft
3 E fii & oILHRBIFRFTIICRYVET . STA=JICHBELTH
4 [P YVETOT. BRLEDEZHERVUEZL,
_ O 2R EIFHEE A
lL Material ® Main body/Brass (C3604)
‘\ Finish eMain body/Chrome plating
M19X1.0 Specific Use ® Vending machines, ticket machines,
1 (35.6) exchange machines, multipurpose use
etc.
Remarks ® The stopper plate is an optional extra.
Please specify the stopper plate placed
on a catalog, 57 page according to your
application.
® Key cannot be removed in two directions.
m B B H(g) A ¥ -]
/f*)bﬁsﬁljﬁi Product No. Weight Lot Price
Panel drilling dimensions AC-193 90 ¥1,800

N IN—2VOvYy

HYPER 2V LOCKS

AC-180-1~3

B O# e F—(FREMICEBIAUN— T (EERT1T).
Feature @ X—MEAONEEICKY). iiEF—DBEARESR
ZRHICL. X1V T1Z2mHTOET,

®Reversible key with excellent
operability (Double-sided type)

® Making it difficult to insert or duplicate
other key by the structure of key
insertion to enhance the security.

A i E eXkfk #H(C3604)
~ FEINE A YOLHOX
] & = elHRFEYICRYET.5TR—JICIBRL TS

VEJTOTERAILEDHREERVEZL,

Material @ Main body/Brass bar (C3604)

Finish e®Main body/Chrome plating

Remarks ® The stopper plate is an optional extra.
Please specify the stopper plate placed
on a catalog, 57 page according to your
application.

1.0

M19 P

INIVRBITE
Panel drilling dimensions

20
T & HE(g) | B ffi
g 65\ Sl oD | L | Lo | Ls | (L | M | Wi | 508 Price
s R e | o AC-180-1| 29 | 79 | 174 | 277 | 356 | 7 | 54 69 | ¥2,500
. Al
'T y AC-180-2| 25 | 35 | 22 | 331 [ 366 | 10 | 68 63 | ¥2,700
(51.5) AC-180-3| 29 6 | 207|397 | 457 | 7 54 84 ¥2,800

58



59

HhA>8avy

KIND LOCKS

AC-

M7x0.75

M19x%1.0
334

m b 8 m B2y

COIN LOCKS

AC-185

25

ISRIVRETE
Panel drilling dimensions

11.5 |

|
| | .M7x0.75

INTIVRERV T A
Panel drilling dimensions

SEMISTOCK A RoHS Elﬁl

" &

Feature

1.R&MEERLE.2HAOFEY,
2.\ AVERBICKDEEREE,
3.CNCERA#ICLSBEENT.

4. ZEREBELSNE. 2 TREES,
5.F—MEVLRTV.UN=TIELT

Two direction of nine pins which regarded
safety as important

A difference of various keys by computer
management

Minuteness processing by exclusive CNC
Key is all a registered number besides the
standard number

Key is the reversible type that it is easy
to use.

# ¥ e #ff(C3604)

FRELE e O L&

A i o BENRTEHE-mEM- S-S — L% 288, fth

fi =Z o ILHRIFBFTIICRYET . STRN=JICHBELTH
VETOT. BALDEZEHRVZE,

Material ®Brass (C3604)

Finish ®Chrome plating

Specific Use @ Vending machines, exchange machines,
ticket machines, game machines,
multipurpose use etc.

Remarks ® The stopper plate is an optional extra.
Please specify the stopper plate placed
on a catalog, 57 page according to your
application.

m & B (g A B B ffi
Product No. Weight Lot Price
AC-183 83 ¥1,500

SEMISTOCK A RoHS ﬁlﬁl

" o®

Feature

1.8 N MegET.
2.EvFIHHL. 2Hm5EREY

B F—RBFERT V. UN=TIEAT
4. FEEMICKY. 25FHREDTEET
5. FBEN-VIEETERAR.

Extra compact design

Two direction of five pins that theft is
difficult.

Key is the reversible type that it is easy
to use.

Key can be removed in two direction by
special ordered products.

Important parts is made of brass.

" H’
RALIE
i =

® i (C3604)

e /OL¥HE

O IEHRIFBIFTVICRVET  STRX—JICHBELTH
YETOT. BALEDEZEBVZEL,

Material
Finish
Remarks

®Brass (C3604)

® Chrome plating

® The stopper plate is an optional extra.
Please specify the stopper plate placed
on a catalog, 57 page according to your
application.

m & B E(s) A # L i
Product No. Weight Lot Price
AC-185 51 ¥1,000




4Oy N,

COIN LOCKS

AC-186

¥ @ 1.8BaV NIRRT

Feature 2 w2 JHELL. 2HME6AE .
3N AVEBBICKDZEEREE,
4. F—HEORPTV.UN=2TIEALT
S55EERICEY. 25FIIRED TEET,
6. XEN—V I THEPFAR,

Extra compact design

Two direction of six pins that theft is
difficult.

A difference of various keys by computer
management

Key is the reversible type that it is easy
to use.

Key can be removed in two direction by
special ordered products.

Important parts is made of brass.

# H e #HfH(C3604)

FHEHLIE e /OLDHOE

fi Z o ILHRIFRTIICRYET . STA=JICBELTH
YETOT. BRLEDEZHEVOLEZ,

Material @ Brass (C3604)

Finish @Chrome plating

Remarks ® The stopper plate is an optional extra.
Please specify the stopper plate placed
on a catalog, 57 page according to your

application.
ISRIVRERG A
Panel drilling di i
anel drilling dimensions P 8 5@ A B 5 G
41 Product No. Weight Lot Price
AC-186 62 ¥1,100
S R
W
a4 >ayy
COIN LOCKS

AC-187

B O® 1BV NIRRT
Feature 2 Bt ZEML /. 2H5mM7THRE
SNV ERICKZEEREEN,
(" 4. F—RFERT V. UN=TIEAT
S.HEEMICKY. 25FHRED TEETY
J 6. FBN—V[32THERAR,
7. EBRTERRIE

¥ Extra compact design

o Two direction of seven pins which

e regarded security as important

.“: - A difference of various keys by computer
management

Key is the reversible type that it is easy
to use.

Key can be removed in two direction by
special ordered products.

Important parts is made of brass.
Standard for vending machine

# H oA (C3604)

FENIE e/OLHE

fis Z o ILHRIFRFIICERYET . STA=JICHBELTH
YVETOT. BRLEDEEHRVUEZL,

Material @ Brass (C3604)

Finish @Chrome plating

Remarks ® The stopper plate is an optional extra.
Please specify the stopper plate placed

M7%0.75

o
IN

M19x1.0

$19.5 on a catalog, 57 page according to your
: application.
/?i)l«?‘?ﬁﬁh‘j‘}f :
Panel drilling dimensions 5 & ) A B % @
42 Product No. Weight Lot Price
AC-187 64 ¥1,300

60



61

A4 >0y VY [FIFNE#RE

AC-110

AC-160

AC-175-ML

AC-175-SS-1

AC-180-1 ~ 3

P.53 |AC-110

P.56 | AC-160

P.57 |[AC-175-ML

P.54 | AC-175-S5-1

P.58 | AC-180-1~3

AC-183

AC-185

AC-193

AC-186

A

AC-187

P.59 |AC-183

P.59 |AC-185

P.58 |AC-193

P.60 |AC-186

P.60 |AC-187

AC-140-1 ~ 2

P.54 |AC-140-1~2

AC-141

P.53 |AC-141

¢18.1

26

AC-142

P.55 |AC-142

$17.3

AC-150

P.55 |AC-150

¢14.2

AC-155

P.56 |AC-155




B &SRR

1. 314>y 20RYFITR. . TEBIAICSEBSIEI W,

MTRFELA TCZERSWET & ARBRDBEXHENDZBEIEZZHEF TEVETOT HHTEFEL TRIVENE LT ZEL,

O Fv FMEOREDMFIEY ) Y EB—lcF—ZREICBETE LICRETIT > T EEL,
@ Fv MEZBRI MV Y TROMIFENTEEL,

~NA

f

N hFy b

INNKF v b
\BfrE

[BE S H#HE VY]
* M14~M22 (K+w k) 32N-mLLF (30kgf+cm)
*M12+w b (KFv k) 27N-mBLF (25kgf-cm)

*M10F+w b (hFw k) 2.2N-mLLF (20kgf-cm)

- M7Fv b UhFy ) 22N-mBUF (20kgf-cm)
HKZDMBIRIESFHVEDE (S0,

@xIOY 7Y E—DREBITHRALGEVE DI LTLEEL,
@ IkHEIcIEEERA M. RURERABNDERZNMFENTEEL,

2.4y 20RYENI . TERFBIRICSERSLEI W,

MTREFELATCZERIWET & ABBRDBEXHENDZREIEZZHEP TEVETOT HHTEFBEL TRIVENE LT 2T,

O F—DIREELIIFAEDME T > W EHERITTT>TLEEL,
HKX—DREELELAPSEEGABICT a3 > e THRVTLEIL,

@ F—ZR2ICE LATHEWRETOEEEFIIITHAENTIEEL,
OEFLIcF—I3ERLENTIEEL,

@ EFLIcF— (BEDTBISE 2D DI ENTHED) IEBLENTREL

o

OHNICEY (ZTY. BRF) HNEALTTERREDRALGYETDTHREDIFTIILEL,
SBEADERIFTHEVTEE L,

a1 AT (RiRT) & 2 AFRKBT (@RIT)ISOWT

W 1 AFRR (F1RVT)
& 1 5 B D I
F-DHREELHT
E R —I39R
EELTEE A,
F—EHR eI
MESRUEICF—ZR
EHRFNZESEL
DT RBOEITFEN
ZMLETEEY,

Cl

-
=y

X

—

@@p

W 2 AFRtRlF (MR
BN SN T
DELES5THF—
(B DIKREELHT
TE,
F—ZHROEERE
DRIFEAOHTE
£,

(o |

62



N RILD
ILOEZHHIER

Y RIVICEEERY FENTWVWBLESEZOY TY A XDILHECHIPERXED.
HOIDEZEAT VUV ADIESHEICTIRTEX T,

NV RILICEY bENTWSFERm (BUIMR - ILDE - RIUF) OEFEX -
BONUBEHET T, CHEELEEL

FESETOLEDHE BRAOY YA X1LHE
AB-151/152
AB-102/103 C-43R (100mm) * C-43L (140mm)
AB-152-1W

WESETOLHS HEL(RF Y LADLDHS)
AB-151/152

AB-102/103 C-43R SC-43/SC-43R
AB-152-1W
AB-301
AB-401
AB-2401

AB-431R
o C-44-1 SC-44-1

AB-401A-1W _}
AB-451

AB-401R

- AB-302/303
AB-402/403
AB-2402/2403
AB-432R/433R
AB-402A/403A | C-44-2 SC-44-2
AB-452/453
AB-402A-1W
AB-453F-1
AB-262-1




-

EELT

New products

HET HBHERERLET .

Ea b@%ﬁﬂﬂ Mark description

It shows the new products.

RETEE R

Standard stock

(]
=
]
-]
X

FRMELTERERELTHUET . TEXA.
HLUIEEE (RBIFERS) IC1E. HE-BEIET
WEEEET BL.XEDOTEXICEBBEICIE
ZEHELSTEEL,

It's always in stock and prepared for immediate
release. We will release/deliver the standard stock
in order date or the next day(except holidays).
However, please contact us regarding the large orders.

T m

Sub-inventory

]
g
&

HBEEZRELTHEELTEVETOT. TEXD
BICIIEEOERZEMOLET . MUINDIBEIE
BES~THTOREERVETY,

We have limited quantities in stock. So thank you
to confirm the stock when ordering. If it is out of
stock, it usually takes about three to seven days.

ROHSHE B X3 ah

Products Conforming to
RoHS Directive

&

BEEEVEOERFIRICHTSEUNIES.
ROHSHESISHIGL THVET .

Conform to the restriction of certain hazardous
materials in the EU RoHS Directive.

ROHSHE B AIRE

Available products in

B>

ROHSHERICHIEATRETY . BELEHELLEL,

Products are available in RoHS directive.
Please contact us.

.

DT FHITELIEZLY,

BoHsS RoHS directive
“e% BA7K QY- INyFEHSETURBIKEA 7DORATY.,  Waterproofing products with O-ring and gasket.
Bh7k Waterproof
ﬁ CAD 2D 285 (dxf) F—EDHYVET . 2D (dxf) data is available.
CAD CAD 2D

—RHRMmERL. STERDT—RIEBEHIET  Dimension and data of general products on the market
R B3R VS FTOT.HEMCTIHBLLAEEO . FEFEHRLS  are for reference only. Please check the actual product.
&= Product Handling AHRODEERVOREZHIETZHEENHYET  Please note. It may be changed without notice

regarding specifications or suspension products.

~

J

-

RIRAE

DISPLAY METHOD

7]9':'7‘:'_)(,\'( About catalog

MR- RCSERAL THNET,

R
AR

BEEEE TEZARICE DV TREL TBIET,
B E. KEL EORRIEELBRDALLJISHIBTEDSN /-

M The drawings are described on the basis of all the great trigonometry.
HThe main components of material and surface finish are only indicated,
and symbol/name, designationare determined by JIS are used.

WPlease refer to panel drilling dimension when installing.

W/ SOVRER AL BT HHRFTRF DS FEICSFALZZS V.

NOTES.

BET N EIHERZE N,

HBHEL

WUHE2OT DT 23 IR ETIEHNEL Ao E/BLEDHIE,
FOCERHAR (AR B4R M E @A) (DWW T F&
BEBTEIIEN HNETDT, FOHIT ALEZ,

BoERICRL T BT EHICTERICT AN TV FHEE/IC

REQUEST

M The data in this catalog are not standard values. Please note.

It may be changed without notice regarding suspension

products, content description(shape + name * specification + material * price).
WPlease check the suitability of the intended use before your pre-test for certain.

D ZEREEV,

liti: {1k

WS BRI —RITERICRESNDDTY  HHREREND
CERBICELTRERICTERICT AMNTV. T2 e IH3

BEX DRI DT EDEREShE T LOBENLET,

PRICE

MOur product was originally produced for general industry.
Please use after safety check through pre-test regarding special uses.
WPlease be sure to confirm your delivery when ordering.

LOBERVLET,

BAA2OT 3 EEERMEIZBMICH SN THY, MEERR
HEHEORRAD-HFRMIZERTL THIET,

WAAH2OVICISFEaRMEH REHSNTHNETY, FELMIBE
ERTIHENPHIETOT, TEX DRI MIRDOERESWET

BAREDTENFHERBINLET BRIVEDELEE,

W This brochure has been produced for business transactions. Products are
exempt from "consumption tax obligation”, so price without tax is listed.

M Current commodity prices is listed in catalog. Please note. It may be changed
without notice regarding price.

WPlease feel free to contact us and ask for a quote about larger orders.

~




TEXITOVT

H50BTENICHBV=LET, BREICEFEVOEDESIEZLY,
Bl 1R/ STEENVELEITET,
DETHREMBELET, FOTHRZZ0N,
FEFOEEDTEXRHRBEVVLET, BRVEDESLEZLY,

ot 3
CHENXTE

OFAXTNIHEX OHEHETNIEX 01 a—%v FTOHEREY
BRES. BRE. PEREREBRLAIE  WIWEEESS [REVH— I NS, LEFE

BHHPRWUFAXZEXEEH 7 >O—RNLTWERE
ZADLTLZE N, BERIEF —H—HE)ET,

FBBERHEZIRADIA. ENETOESREICT T, HGICEHT 2 TEROMGVELET,

EELSEEV BEROBTRNTEHEZMUVZLET, HRBMUNBZHRBER AYUEDOBRB TIFHEREER
TETHEEY,

o = TEL06-6741-4723 FAX.06-6712-2609
@3 =%t 15N ﬁ k W http://www.hoshimoto.co.jp E=EN co@hoshimoto.co.jp

201705SUN  PRINTED IN JAPAN






